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(6) gm‘mÝ` {dkmZ (3)
14) ‘mZdr MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z
15) amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma d Amamo½¶ H$m ©̀H«$‘
16) Am¡fYo Am{U bgr
17) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo
18) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
19) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg
20) ‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r
21) ì¶dñWmnZ

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

2022 gmbmVrb E‘nrEggr narjmVrb gm‘mÝ¶ {dkmZ KQ>H$mdarb àíZg§J«h
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(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó ({’${O³g)
2) agm¶Zemó (Ho${‘ñQ́>r)
3) àm{Uemó (Pycm°Or)
4) dZñn{Vemó (~m°Q>Zr)
5) H¥$fr / eoVrg§b¾ {dkmZ
6) Amamo½¶emó (hm¶OrZ)
7) {dkmZ Am{U V§ÌkmZ

1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
3) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
4) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
6) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
7) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
8) Cn ẁº$ Am{U hmZrH$maH$ àmUr
9) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
10) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó
11) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ,
12) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ
13) noer{dkmZ d M¶mnM¶Z
14) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
15) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
16) Am¡fYo Am{U bgr
17) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo
18) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
19) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

1) ^m¡{VH$emó ({’${O³g)

67) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
68) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
69) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m
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2) agm¶Zemó (Ho${‘ñQ́>r)

70) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
71) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
72) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

3) àm{Uemó (Pycm°Or)

73) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
74) Cn ẁº$ Am{U hmZrH$maH$ àmUr

4) dZñn{Vemó (~m°Q>Zr)

75) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
76) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

5) eoVr{dkmZ

77) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
78) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

6) Amamo½¶emó (hm¶OrZ)

79) noer{dkmZ d M¶mnM¶Z
80) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
81) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
82) Am¡fYo Am{U bgr
83) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo

7) {dkmZ Am{U V§ÌkmZ

84) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
85) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg

‘m{hVr d g§àofU V§ÌkmZ
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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 gm‘mÝ` {dkmZmda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
5) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
6) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
7) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
8) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
9) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
10) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
11) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
12) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
13) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
14) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
15) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
16) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
17) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
18) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
19) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
20) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
21) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
22) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
23) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
24) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
25) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
26) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
27) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
28) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
29) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
30) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
31) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
32) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
33) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
34) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
35) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
36) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
37) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
38) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 5

For Private Circulation Only

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2022
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
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39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2022
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` {dkmZ

gm‘mÝ` {dkmZ {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) ^m¡{VH$emó ({’${O³g)

67) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar / Bbo³Q´>mo‘°¾o{Q>H$ ñnoŠQ´‘
68) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ d {H$aUmoËgm[aVm
69) IJmobemó d A§Vami {dkmZ- Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ.

‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r - BboŠQ´m°{ZŠg, H$å ẁ{ZHo$eZ Am{U g§JUH$ V§ÌkmZ, gmoeb ‘r{S>`m

2) agm¶Zemó (Ho${‘ñQ́>r)

70) AmdV© gmaUr - ‘ybÐì¶o, YmVy Am{U AYmVy
71) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
72) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

3) àm{Uemó (Pycm°Or)

73) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
74) Cn ẁº$ Am{U hmZrH$maH$ àmUr

4) dZñn{Vemó (~m°Q>Zr)

75) dZñnVtMo dJuH$aU Am{U CXmhaUo, dZññnVtMo earaemó Am{U eara{dkmZ
76) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr, dZemó

5) eoVr{dkmZ

77) A°J«moBH$mobm°Or - g|{Ð` eoVr, {nHo$ Am{U g§H$[aV OmVr, nmUr ì`dñWmnZ
78) H¥$fr{dkmZ newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶, ’$bmoËnmXZ

6) Amamo½¶emó (hm¶OrZ)

79) noer{dkmZ d M¶mnM¶Z
80) ‘mZdr eara àUmbr - MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr, CËgO©Z g§ñWm
81) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U Amamo½¶ H$m ©̀H«$‘
82) Am¡fYo Am{U bgr
83) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo

7) {dkmZ Am{U V§ÌkmZ

84) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
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(14) ‘mZdr MoVmg§ñWm, nMZ, ídgZ, é{Yam{^gaU, ñZm¶y d AñWr,
A§V…òmdr, CËgO©Z

1) ‘mZdr MoVmg§ñWm
2) ‘mZdr nMZg§ñWm
3) ‘mZdr ídgZg§ñWm,aº$, é{Yam{^gaU
4) ‘mZdr ñZm¶y d AñWr g§ñWm
5) ‘mZdr A§V…òmdrg§ñWm
6) ‘mZdr CËgO©Z g§ñWm
7) nwZéËnmXZ g§ñWm
8) OI‘m, q’$JaqàQ
9) ‘¥Ë¶y, ed{M{H$Ëgm
10) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr

1) ‘mZdr MoVmg§ñWm, ‘Zmoé½U
1) nmVinS>ÚmÛmao àH$me S>moù¶m‘Ü¶o àdoe H$aVmo Ë¶mbm ...... åhUVmV.

1) Am¶arg 2) nw{nb 3) aoQ>rZm 4) H$m°{Z©¶m
1) Light enters the eye through thin membrane called the

1) Iris 2) Pupil 3) Retina 4) Cornea

2) EImÚm ‘Zmoé½U ì¶º$sbm ‘mZgmonMma é½Umb¶mV qH$dm ‘mZgmonMma J¥hmV àdoe XoÊ¶mgmR>r Am{U AQ>H$mdyZ R>odÊ¶mgmR>r
‘mZ{gH$ Amamo½¶ A{Y{Z¶‘, 1987 À¶m VaVwXrAÝd ò H$mT>bobm AmXoe åhUOo ...... hmo¶.
1) {ZH$S>rMm AmXoe 2) ñdmJV AmXoe
3) ‘ZmB© AmXoe 4) darbn¡H$s H$moUVohr Zmhr

2) An order made under the provision of the Mental Health Act, 1987, for the admission and detention

of mentally ill person in a psychiatric hospital or psychiatric nursing home is the order known

as..........

1) Emergency Order 2) Reception Order

3) Prohibition Order 4) None of the above

2) ‘mZdr nMZg§ñWm
1) ‘mZdmÀ¶m nmoQ>m‘Ü¶o H$moUVo OR>aag òdVmV?

1) nopßgZ Am{U {Q´>pßgZ 2) {Q´>pßgZ Am{U hm¶S´>mo³bmo[aH$ Amåb
3) hm¶S´>mo³bmo[aH$ Amåb Am{U nopßgZ 4) A‘m¶bmopßgZ Am{U nopßgZ

1) Which gastric juices are secreted in human stomach?

1) Pepsin and Trypsin 2) Trypsin and HCl

3) HCl and Pepsin 4) Amylopsin and Pepsin
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2) ............. ‘mZdr AmVS>çm§g§~§Yr ‘mJm©Vrb OrdmUy§Ûmao g§l²bo{fV Ho$bo OmVo.
1) pìhQ>°{‘Z S>r 2) pìhQ>°{‘Z gr 3) pìhQ>°{‘Z E 4) pìhQ>°{‘Z Ho$

2) .............. is synthesized by bacteria in the human intestinal tract.

1) Vitamin D 2) Vitamin C 3) Vitamin A 4) Vitamin K

3) Vm|S>mÀ`m nmoH$irMo N>ßna ........... Ûmao V`ma hmoVo
1) Q>UH$ Q>miy 2) Or^ 3) KemMr nmoH$ir 4) O~S>m

3) The roof of the mouth cavity is formed by .........

1) Hard palate 2) Tongue 3) Pharynx 4) Mandible

3) ‘mZdr ídgZg§ñWm,aº$, é{Yam{^gaU
1) qPH$ hm .......... EÝPmB‘Mm A{d^mÁ` ^mJ AgyZ Vmo aº$noet‘Ü ò Cƒ à‘mUm‘Ü ò AgVmo.

1) {Q´pßgZ 2) H$mobrZ 3) H$m~m}{ZH$ EZhm`Sóg 4) [a~moâbo{dZ
1) Zinc is an integral part of the enzyme ........ which is present in high concentration in blood cells.

1) Trypsin 2) Choline 3) Carbonic anhydrase 4) Riboflavin

2) Imbrbn¡H$s H$moUË¶m àH$maÀ¶m nm§T>è¶m aº$ noerMr Q> o̧$dmar {ZamoJr ‘Zwî¶mÀ¶m aº$m‘Ü¶o gdm©V H$‘r AgVo ?
1) {bå’$mogmBQ²g 2) ‘moZmogmBQ²g 3) BAmogZmo{’$ëg 4) ~ogmo{’$ëg

2) Which of the following WBC type has lowest percentage in blood of healthy human ?

1) Lymphocytes 2) Monocytes 3) Eosinophils 4) Basophils

3) aº$ JmoR>Ê`m‘Ü ò Jw§Vbobm KQ>H$ XII åhUyZ XoIrb AmoiIbm OmVmo
1) âboMa ’°$ŠQ>a 2) hoJo‘Z ’°$ŠQ>a 3) p¼g‘g ’°$ŠQ>a 4) ñQw>AQ>© ’°$ŠQ>a

3) Factor XII involved in blood coagulation is also known as

1) Fletcher factor 2) Hageman factor 3) Christmas factor 4) Stuart factor

4) öX`mÀ`m COì`m AmqbX q^Vr‘Ü¶o OoWo H«°${Z`b ìhoZm H$mdm CKS>Vo Ë`m OmJoOdi, öX`mÀ`m ñZm ỳ§À`m Am§V[aH$ b`~Õ
AmHw§$MZmMo {Z`‘Z H$aUmam H$moUVm KQ>H$ AgVmo ?
1) Eìhr ZmoS> 2) EgE ZmoS>
3) Eìhr ZmoS> Am{U EgE ZmoS> 4) darbn¡H$s H$mhrhr Zmhr

4) Which structure is situated in right atrial wall of heart close to the opening of cranial vena cava

that regulates the intrinsic rhythmic contraction of cardiac muscles?

1) A. V. node 2) S. A. node

3) A. V. node and S. A. node 4) None of the above

4) ‘mZdr ñZm¶y d AñWr g§ñWm
1) éVboë¶m nm¶m§À¶m R>em§À¶m Zm|Xr KoÊ¶mMo Mma àH$ma AmhoV. Imbrbn¡H$s MwH$sMr nÕV H$moUVr ?

1) ßb°ñQ>aMm dmna H$ê$Z 2) ‘oUmMm dmna H$ê$Z
3) ‘mVrÀ¶m {MIbmMm dmna H$ê$Z 4) H$mModa aoImQy>Z

1) Sunken footprints are lifted and recorded in four ways. Which of the following is not correct ?

1) By using plaster 2) By using wax

3) By using clay 4) By sketching on glass
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2) Imbrb Z‘yX n¶m©¶mn¡H$s, H$moUË¶m n¶m©¶mMm g‘mdoe MmbÊ¶mÀ¶m nÕVrMo (Gait Pattern) {díbofUmV e³¶ hmoUma
Zmhr ?
1) MmbUmè¶m {Xem 2) ì¶º$sMr eara`ï>r
3) ì¶º$sMo qbJ (ór qH$dm nwéf) 4) ~mobUmar ^mfm

2) Of the following options, which is not possible to determine from the analysis of a Gait Pattern?

1) Direction of walker 2) Build of person

3) Sex ofthe person (female or male) 4) Language spoken

5) ‘mZdr A§V…òmdrg§ñWm
1) BÝgwcrZ aº$mVrb gmIaoMo à‘mU H$go H$‘r H$aVo ?

a) aº$mVrb gmIa emofyZ KoD$Z b) ½bm¶H$moOoZ V¶ma H$éZ
c) à{WZ g§ûmcofU H$éZ d) Ma~rMr gmR>dU H$éZ
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (d) 3) (a) Am{U (c) 4) (a), (b), (c) Am{U (d)

1) How does Insulin reduces blood glucose ?

a) Promoting uptake of glucose b) Glycogen formation

c) Protein synthesis d) Fat storage

Answer Options :

1) (a) and (b) 2) (b) and (d) 3) (a) and (c) 4) (a), (b), (c) and (d)

2) earamVrb aº$m‘Ü¶o nmÊ¶mMm A§e, gm‘mÝ¶V… AmT>iUmè¶m nmVirnojm H$‘r Pmë¶mg, ...... g§àoaH$ òdbm OmVmo.
1) {H«$E{Q>ZrZ 2) ao{ZZ 3) ìh°gmoào{gZ 4) A°ÝOrAmoQ>opÝgZ

2) hormone is released when water content of blood fluids is less than normal.

1) Creatinine 2) Renin 3) Vasopressin 4) Angiotensin

3) {nQ>¶yQ>ar J«§Wr ¶m A§V…òmdr J«§Wr AgyZ ‘|Xÿ‘Yrb hm¶nmoWmbo‘g ‘Ü¶o AgVo, Vr AZoH$ g§àoaHo$ òdVo.
a) {Vbm ‘mñQ>a A§V…òmdr J«§Wr åhUVmV.
b) {VÀ¶m nwT>rb ^mJmV Ý¶wamohm¶nmo’$m¶grg Va ‘mJrb ^mJmV A°S>rZmohm¶nmo’$m¶grg åhUVmV.
c) {nQ>¶yQ>arÀ¶m ‘mJrb ^mJmVyZ Am°³grQ>mogrZ Am{U ìhogmoàogrZ hr g§àoaHo$ òdVmV.
d) Eg.Q>r.EM., {Q>.Eg.EM., E.gr.{Q>.EM., hr g§àoaHo$ A°S>rZmohm¶nmo’$m¶grg ‘YyZ òdVmV.
darbn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/V?
1) (a), (c) Am{U (d) 2) ’$º$ (a) Am{U (c)

3) ’$º$ (d) 4) ’$º$ (b) Am{U (d)

3) Pituitary gland is endocrine gland connected to hypothalamus at the base of the brain. It secretes

many hormones.

a) It is called as master endocrine gland.

b) Its anterior part is neurohypophysis and posterior is adenohypophysis.

c) Oxytocin and Vasopressin are secreted by posterior pituitary.

d) STH, TSH, ACTH are secreted by adenohypophysis.

Which of the statements given above is/are correct?

1) (a), (c) and (d) 2) Only (a) and (c) 3) Only (d) 4) Only (b) and (d)
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6) ‘mZdr CËgO©Z g§ñWm
1) Ooìhm {H$S>Ur (‘yÌqnS>) Q>¶yã¶yca nwZem}fU A¶eñdr hmoVo, Voìhm ^anya cKdr hmoVo. ¶m amoJmcm (M¶mnM¶ {dH$mamcm)

H$m¶ åhUVmV ?
1) ‘Yw‘oh ‘o{c²Vg 2) ‘Yw‘oh B[Ýg{nS>g
3) {H$emoad¶rZ 4) Zm°Z-BÝgw{cZ Adc§{~V ‘Yw‘oh ‘o{c²Vg

1) When kidney tubular reabsorption fails, copious urination follows. What is this disease

(metabolicdisorder) called ?

1) Diabetes mellitus 2) Diabetes insipidus

3) Juvenile onset diabetes 4) Non-insulin dependent diabetes mellitus

2) àË òH$ ½bmo‘oébgÀ`m A{^dmhr Y‘ZrÀ`m OŠgQ>m½bmo‘oéba J«°Ý ẁbmogm noer àmoQ>rAmobmB{Q>H$ ......... E§PmB‘Mm òmd
H$aVmV
1) ao{ZZ 2) nopßgZ 3) {Q́pßgZ 4) ho gd©

2) The Juxtaglomerular Granulosa cells of the afferent arteriole of each glomerulus secrete the

proteolytic enzyme ......

1) Renin 2) Pepsin 3) Trypsin 4) All of these

7) nwZéËnmXZ g§ñWm
1) ‘mZdr OZwH$s¶ àH$ënmZo ~Z{dboë¶m S>oQ>m~og ‘Ü¶o àË¶oH$ ‘Zwî¶m‘Ü¶o A§XmOo ......... OZwH$ AmhoV.

1) 5000 2) 25000 3) 50000 4) 3 AãO
1) The Human Genome Project created a database comprising of roughly ...... genes in each human

being.

1) 5000 2) 25000 3) 50000 4) 3 billion

2) àm¡T> àmÊ`m§À¶m go{‘{Z’o$ag Q>çyã ỳëg‘Ü ò Agboë¶m H$moUË`m gyú‘ nm°{bhoS´b noer Q>oñQ>moñQ>oam°Z hm‘m}ZMm òmd
H$aVmV?
1) gQ>m}br noer 2) àmW{‘H$ ewH«$mUyOÝ` noer
3) B§Q>apñQ>{e`b gob/bo{S>J gob 4) ñn‘°©{Q>S²g

2) Microscopically which polyhedral cells observed between seminiferous tubules found mainly in

mature animal that secrete harmone testosterone?

1) Sertoli cells 2) Primary spermatocyte

3) Interstitial cells/Leyding cells 4) Spematids

3) A±Q´b ’$m°{bH$b V`ma hmoÊ`mnmgyZ Vo ........ n¶ªVMm H$mbmdYr hm ’$m°{bŠ ẁba AdñWm åhUyZ AmoiIbr OmVo.
1) AmoìhþboeZ 2) ’${Q©>bm`PoeZ 3) Båßbm§Q>oeZ 4) J ©̂YmaUm

3) Which of the following is the follicular phase refer to the period from antral follicle formation

to ........

1) Ovulation 2) Fertilization 3) Implantation 4) Gestation
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4) à{VÐì¶ d H$Ur¶ à{VOZm§À¶m ‘Yrb nañna {H«$¶m ‘YyZ V¶ma hmoUmè¶m Ñî¶ JwR>iUmbm ............ Ago åhUVmV.
1) MyfU 2) AdjonU 3) g‘yhZ 4) CU©Z

4) Interaction between antibody and particulate antigen that results in visible clumping is called ......

1) Blotting 2) Precipitation 3) Agglutination 4) Flocculation

8) OI‘m, q’$JaqàQ
1) eó{H«$¶oXaå¶mZ dmnabo OmUmao H$moUË¶m àH$maMo Q>mHo$ earamÀ`m D$Vt‘Ü ò emofbo OmV ZmhrV?

1) H$m§Jmê$ Q>|S>m°Z 2) Zm{^H$ Q>on 3) H°$Q>JQ> 4) darb gd©
1) Which suture material is not absorbed into the body tissues?

1) Kangaroo tendon 2) Umbilical tape 3) Catgut 4) All of the above

2) ^maVmV q’$JaqàQ>À¶m dJuH$aUmgmR>r ‘w»¶V… Imbrbn¡H$s H$moUVr ì¶dñWm dmnabr OmVo ?
1) hoÝar {gñQ>r‘ 2) amoeba {gñQ>r‘ 3) ã¶wgo{Q>H$ {gñQ>r‘ 4) darbn¡H$s H$moUVohr Zmhr

2) In India, which of the following major systems has been used for classification of the fingerprints?

1) Henry system 2) Roschler system 3) Vucetich system 4) None of the above

3) MoBbmoñH$monr .......... Mm Aä¶mg Amho.
1) ZIm§Mo R>go 2) nm¶m§Mo R>go 3) AmoR>m§Mo R>go 4) Q>miyMo R>go

3) Cheiloscopy is the study of ......

1) Nail Prints 2) Foot Prints 3) Lip Prints 4) Palato Prints

4) Imbrbn¡H$s H$moUVr "doQ> ‘oWS>' nÕV hr boQ>|Q> q’$JaqàQ> S>oìhbn‘|Q> gmR>r dmnabr OmVo ?
1) Am°pŠgS>oeZ nÕV 2) {S>hm¶S´>oeZ nÕV
3) S>m¶PmoâbwAmo[aZ nÕV 4) Q´>oqgJ nÕV

4) Which of the following ‘Wet methods’ has been used for Latent fingerprint development ?

1) Oxidation method 2) Dehydration method

3) Diazofluorine method 4) Tracing method

5) Imbrb {dYmZm§n¡H$s H$moUVo {dYmZ/{dYmZo q’$JaqàqQ>J nÕV g§~§YmV ~amo~a Amho/V ?
A) q’$JaqàqQ>Jbm S>°p³Q>bmoJ«m’$s Ago gwÕm åhUVmV.
~) bwwßg (65%) àH$ma q’$JaqàqQ>J ‘Ü¶o EH$X‘ gmYmaU nUo AmT>iVmo.
H$) q’$JaqàqQ>J nÕV {nV¥Ëd {ddmXmÀ¶m àH$aUm‘Ü¶o dmnabr OmVo.
n¶m©¶r CÎmao …
1) ’$º$ A 2 ’$º$ A Am{U H$ 3) ’$º$ ~ 4) ’$º$ A Am{U ~

5) Which of the following statements regarding fingerprinting method is/are correct ?

a) Fingerprinting is also known as Dactylography.

b) Loops (65%) is the most common type of fingerprinting.

c) Fingerprinting method is used in cases of paternity disputes.

Answer Options :

1) Only a 2) Only a and c 3) Only b 4) Only a and b
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6) EImXr em°Q>JZ 60 Vo 90 go‘r A§Vamdê$Z S>mJbr AgVm hmoUmè¶m àdoer OI‘o ^modVr ...... {XgyZ ¶oB©b.
1) ’$º$ Oimbobo 2) ’$º$ H$mio nS>bobo 3) ’$º$ Jm|Xbobo 4) darb gd©

6) If a shotgun is fired from distance of 60 to 90 cm, the entry wound will show presence of ......

1) Only burning 2) Only blackening 3) Only tattooing 4) All of the above

7) Imbrb {dYmZmMm ‘JtJ g§~§{YV H$am …
A) ‘JtJ åhUOo ì¶º$sMm Jim ~m§~yÀ`m H$mR>r Zo Xm~Uo.
~) ‘JtJbm Am‘© bm°H$ Ago gwÕm åhUVmV.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V ?
1) ’$º$ A 2) ’$º$ ~ 3) XmoÝhr A Am{U ~ 4) darbn¡H$s H$moUVohr Zmhr

7) Consider the following statements regarding Mugging :

a) Mugging means compressing the neck of the person using bamboo stick.

b) Mugging is also known as Arm Lock.

Which of the statements given above is/are correct ?

1) Only a 2) Only b 3) Both a and b 4) None of the above

8) ^maVr¶ X§S> g§{hVm, 1860 AZwgma Imbrbn¡H$s H$moUVr Jmoï> J§̂ ra BOm ‘mZbr OmB©b?
A) nw§ñËdhaU H$aUo ~) hmS>m§Mo OmoS> {dñH$irV H$aUo/g§Yr {dÀN>oX H$) Ho$g H$mT>Uo
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ ~ Am{U H$ 4) gd© A, ~, H$

8) As per the Indian Penal Code, 1860, which of the following amounts to Grievous Hurt ?

a) Emasculation b) Privation of any joints c) Removal of hair

Answer Options :

1) Only a 2) Only a and b 3) Only b and c 4) All a, b, c

9) ‘¥Ë¶y, ed{M{H$Ëgm
1) ^maVmVrb n{hbr Ý¶m¶d¡ÚH$s¶ ed{M{H$Ëgm ............ gmbr H$aÊ¶mV Ambr.

1) 1693 2) 1897 3) 1857 4) darbn¡H$s H$moUVohr Zmhr
1) The first medicolegal autopsy in India was done in

1) 1693 2) 1897 3) 1857 4) None of the above

2) JoQ>bg© MmMUrMm dmna .............. ¶m àH$maÀ¶m ‘¥Ë ỳ‘Ü ò H$aÊ¶mV ¶oVmo.
1) Ji’$mg 2) Jim AmdiUo 3) nmÊ¶mV ~wS>Uo 4) {df~mYm

2) Gettler’s test is used in death due to ......

1) Hanging 2) Strangulation 3) Drowning 4) Poisoning

3) Imbrb {dYmZm§Mm edmoËIZZ g§~§{YV {dMma H$am …
A) edmoËIZZ åhUOo O{‘ZrVyZ ‘¥V eara ~mhoa H$mT>Uo.
~) H$m¶©H$mar X§S>m{YH$mar ¶m§Mr H$m¶Xoera nadmZJr Amdí¶H$ AgVo.
H$) ^maVm‘Ü¶o edmoËIZZ H$aÊ¶mgmR>r 10 dfmªMr ‘¶m©Xm AgVo.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/ ?
1) ’$º$ A 2) ’$º$ A Am{U H$ 3) ’$º$ A Am{U ~ 4) ’$º$ H$
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3) Consider the following statements regarding Exhumation :

a) Exhumation means digging of dead body from ground.

b) Authorization is required from Executive Magistrate.

c) In India, there is 10 years of limit for Exhumation.

Which of the statements given above is/are correct ?

1) Only a 2) Only a and e 3) Only a and b 4) Only c

4) ^maVr¶ gmjr nwamì¶mÀ¶m H$m¶ÚmV ''‘¥Ë ẁnyd© O~m~'' ¶m g§H$ënZoMr ì¶m»¶m {Xbr Amho H$m?
A) hmo¶ ~) Zmhr
H$) Ë¶mMr ì¶m»¶m gd©gmYmaU dm³I§S> A{Y{Z¶‘, 1897 ‘Ü¶o Amho. S>) ^maVr¶ X§S> g§{hVoV Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V?
1) ’$º$ A Am{U H$ 2) ’$º$ ~ 3) ’$º$ A Am{U S> 4) ’$º$ S>

4) Is the term "Dying Declaration" defined in the Indian Evidence Act ?

a) Yes

b) No

c) It is defined in the General Clauses Act, 1897.

d) Itis in the Indian Penal Code.

Which of the statements given above is/are correct ?

1) Only a and c 2) Only b 3) Only a and d 4) Only d

5) ^maVr¶ nwamdm A{Y{Z¶‘mZwgma ‘¥Ë ẁnyd© O~m~ hm enWoda {Xboë¶m nwamì¶m g‘mZ AgVmo. ho dm³¶ ...... Amho.
1) ~amo~a 2) MyH$ 3) J¡abmJy 4) darbn¡H$s H$moUVohr Zmhr

5) As per the Indian Evidence Act, Dying Declaration is on par with evidence on cath. This statement

is .........

1) correct 2) wrong 3) irrelevant 4) None of the above

10) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr
1) ^maVr¶ X§S> g§{hVm 376 A~ à‘mUo {ejm {Xbr OmD$ eH$Vo Oa ~{iV órMo d¶ ............ df} nojm H$‘r Agob.

1) 12 2) 15 3) 16 4) 18
1) IPC 376AB deals with punishment for rape on awoman under ...... years age.

1) 12 2) 15 3) 16 4) 18

2) ’$m¡OXmar à{H«$¶m g§{hVoÀ¶m Imbrbn¡H$s H$moUË¶m VaVwXr A§VJ©V ~bmËH$mamMm Amamon AgUmè¶m ì¶º$sMo d¡ÚH$s¶
VnmgUr hmoVo?
1) 53A 2) 50A 3) 55A 4) 54A

2) Under which of the following sections of the Criminal Procedure Code is the medical examination

of a person accused of rape is conducted ?

1) 538A 2) 50A 38) 55A 4) 54A

3) J ©̂YmaUmnyd© Am{U àgy{Vnyd© qbJ{ZXmZ MmMUr V§Ì H$m¶Xm, 1994 ‘Yrb Imbrbn¡H$s H$moUVo H$b‘ amÁ¶ n¶©dojH$s¶
‘§S>i Am{U H|$Ðem{gV àXoe n¶©dojH$ ‘§S>imÀ¶m ñWmnZoer g§~§{YV Amho ?
1) 16A 2) 20 3) 20A 4) darbn¡H$s H$moUVohr Zmhr
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3) Which of the following sections of Pre-Conception and Pre-Natal Diagnostic Techniques Act,

1994 deals with Constitution of State Supervisory Board and Union Territory Supervisory Board?

1) 16A 2) 20 3) 20A 4) None of the above

4) J ©̂YmaUmnyd© Am{U àgdnyd© {ZXmZ V§Ì A{Y{Z¶‘, 1994 À¶m H$b‘ 4-3 (i) Zwgma àgdnyd© {ZXmZ V§Ì, J ©̂dVr
‘{hboMo d¶ ........... dfm©nojm OmñV Agë¶mg dmnaVm ¶oVmo.
1) EH$moUrg 2) n§Mdrg 3) EH$drg 4) nñVrg

4) As per Section 4-3(i) of Pre-Conception and Pre-Natal Diagnostic Techniques Act, 1994, pre-

natal diagnostic can be conducted on the pregnant woman if her age is above ...... years.

1) nineteen 2) twenty-five 3) twenty-one 4) thirty-five

5) EImXm nwéf Oa órÀ`m BÀN>o{déÕ qH$dm {VÀ¶m g§‘Vr{edm¶ {VÀ¶mer ...... Ad¶dm§n¡H$s H$moUË¶m Ad¶dmg§~§Yr b¢{JH$
g§̂ moJ H$aV Agob Vmo ~bmËH$ma hmoVmo.
A) ¶moZrg§~§Yr g§̂ moJ ~) ~o‘m¡{IH$ g§̂ moJ H$) JwXm g§̂ moJ
¶mo½¶ n¶m©¶ {ZdS>m.
1) gd© A, ~ d H$ 2) ’$º$ A d ~ 3) ’$º$ ~ d H$ 4) ’$º$ A

5) A man is said to commit an offence of rape if he penetrates his penis into ...... against the will or

consent of a woman.

a) the vagina b) the urethral mouth c) the anus

Choose correct option.

1) All a, b and c 2) Only a and b 3) Only b and c 4) Only a

6) Imbrb {dYmZm§Mo AdbmoH$Z H$am …
{dYmZ I … J ©̂YmaUm nyd© Am{U àgdnyd© {ZXmZV§Ì H$m¶ÚmMo H$b‘ 18 'H|$Ðr¶ n¶©dojr ‘§S>imÀ¶m' A§VJ©V gXñ¶m§À¶m
nmÌVoer g§~§{YV Amho.
{dYmZ II … gXa ~m~VrV {d{hV AQ>tZwgma {Z¶wº$ Ho$bobo Ago gXñ¶ nwZ{Z©¶wº$sgmR>r nmÌ ZgVrb.
n¶m©¶r CÎmao …
1) {dYmZ I ~amo~a Amho; II MyH$ Amho 2) {dYmZ II ~amo~a Amho; I MyH$ Amho
3) XmoÝhr {dYmZo ~amo~a AmhoV 4) XmoÝhr {dYmZo MyH$ AmhoV

6) Observe the following statements :

Statement I : Section 18 of the Pre-Conception and Pre-Natal Diagnostic Techniques Act deals

with eligibility of the members under ‘Central Supervisory Board’.

Statement II : Such members are appointed as per the terms prescribed and shall not be eligible

for reappointment.

Answer Options :

1) Statement I is correct; II is incorrect 2) Statement II is correct; I is incorrect

3) Both the statements are correct 4) Both the statements are incorrect
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(15) amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma d Amamo½¶ H$m ©̀H«$‘
1) amoJàgma d H$maH$ KQ>H$
2) amoJ{ZXmZ d CnMma
3) Amamo½¶ H$m ©̀H«$‘

1) amoJàgma d H$maH$ KQ>H$
1) Imbrbn¡H$s H$moUVm {dfmUy EH$m ì¶º$sH$Sy>Z Xþgè¶m ì¶º$s‘Ü¶o g§H«${‘V gwB© qH$dm Agwa{jV b¢{JH$ g§~§Ym‘wio ngaVmo?

1) S>|½¶y {dfmUy 2) amoQ>m dm¶ag 3) {hn°Q>m¶Q>rg A 4) {hn°Q>m¶Q>rg ~
1) From the following viruses, which one transfers from one person to other via infected needles or

unprotected sex ?

1) Dengue virus 2) Rota virus 3) Hepatitis A 4) Hepatitis B

2) doñQ> ZmB©b EZHo$’o$bm¶{Q>g ¶m amoJm‘Ü¶o ...... gyO ¶oVo. hm amoJ doñQ> ZmB©b {dfmUy‘wio hmoVmo. àW‘V… ¶m amoJmMo {ZXmZ
ZmB©bÀ¶m npíM‘oH$S>rb ^mJmV ...... Pmbo.
1) ‘|Xÿbm, ¶wJm§S>m‘Ü¶o 1937 gmbr 2) ‘|Xÿbm, X{jU Am{’«$Ho$V 1999 gmbr
3) MoVmg§ñWobm, ¶wJm§S>m‘Ü¶o 1937 gmbr 4) MoVmg§ñWobm, X{jU Am{’«$Ho$V 1999 gmbr

2) West Nile Encephalitis (WNE) is the inflammation of the ....... caused by West Nile Virus. WNE

was first diagnosed in the West Nile region of

1) Brain, Uganda in 1937 3) Nervous system, Uganda in 1937

2) Brain, South Africa in 1999 4) Nervous system, South Africa in 1999

3) {S´qbJ Am{U ãbmpñQ>§J‘wio ~moJÚmV Yyi gmMUo hm EH$ J§̂ ra YmoH$m Amho, H$maU YwirMm XrK© ídmg KoVë`mZo ........hm
AmOma hmoVmo.
1) ËdMoMm H$H©$amoJ 2) Am°pñQ>`mo‘m`{b{Q>g 3) {g{bH$m°{gg 4) AnMZ

3) Accumulation of dust in the tunnel due to drilling and blasting is a serious hazard, as extended

breathing of dust results in ..........

1) Skin cancer  2) Osteomyelitis 3) Silicosis 4) Dyspepsia

4) nmR>rÀ¶m H$Ê`mÀ¶m Agm‘mÝ` Aem ‘mJyZ nwT>À¶m/d|Q´b dH«$Vobm ........ åhUVmV.
1) H$m¶’$mo{gg 2) bm°S>m}{gg 3) ñH$mo{b`mo{gg 4) ñnm°pÝS>bmo

4) Abnormal ventral curvature of spine is called as ......

1) Kyphosis 2) Lordosis 3) Scoliosis 4) Spondylo

5) {dfmUy§~Ôb Imbrb {dYmZo {dMmamV ¿`m Am{U Imbrb H«$‘mZo CÎma {ZdS>m :
A) {dfmUy A{Zdm ©̀ naOrdr AmhoV ~) {dfmUy gOrd Ord AmhoV
H$) {dfmUy nyU©nUo `O‘mZ noetda Adb§~yZ AgVmV S>) {dfmUy§Mr ñdV…Mr E§OmB‘ àUmbr AgVo
darbn¡H$s H$moUVo {dYmZ {dfmUy§~Ôb Iao Amho?
1) (A), (~) Am{U (H$) 2) (A) Am{U (~)
3) (A), (~), (H$) Am{U (S>) 4) (A) Am{U (H$)
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5) Consider the following statements about viruses and select the answer from the order given below:

a) Viruses are obligatory parasites b) Viruses are living organisms

c) Viruses totally depends upon the host cells d) Viruses have their own enzyme systems

Which of the above statements are true about viruses ?

1) (a), (b) and (c) 2) (a) and (b) 3) (a), (b), (c) and (d) 4) (a) and (c)

6) nmo{bAmo hm {dfmUyOÝ¶ AmOma Amho. S>ãë¶y.EM.Amo.Zo nmo{bAmo AmOmamgmR>r gXñ¶ amï´>m§Zm Iyn gw{dYm {Xë¶m AmhoV.
a) hm {dfmUyOÝ¶ AmOma S>r.EZ.E. {dfmUy‘wio hmoVmo.
b) nmo{bAmo‘m¶boQ>rgbm gd©gmYmaUnUo nmo{bAmo åhUVmV.
c) nëg nmo{bAmo bgrH$aU H$m¶©H«$‘ ^maVm‘Ü¶o 1995 ‘Ü¶o gwê$ Pmbm.
d) AmVm nmo{bAmoMo ^maVmVyZ {Z‘y©bZ Pmbo Amho.
darbn¡H$s H$moUVo {dYmZ / {dYmZo ~amo~a Amho/V?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) (a), (b) Am{U (c) 4) ’$º$ (c) Am{U (d)

6) Polio is a viral disease. WHO extends facilities to members nations to fight against Polio.

a) It is acute viral infection caused by DNA virus.

b) Poliomylitis is commonly called as Polio.

c) Pulse Polio immunization programe launched in India in 1995.

d) Now Polio is already eradicated from India.

Which of the statement/s given above is/are correct?

1) Only (a) and (b) 2) Only (b) and (c) 3) (a), (b) and (c) 4) Only (c) and (d)

2) amoJ{ZXmZ d CnMma
1) {ZOªVwH$sH$aU H$aÊ¶mgmR>r Imbrbn¡H$s H$moUmMm dmna hmoVmo?

1) A{VZrb àH$me 2) AmoQ>mo³bod 3) BÝ’«$maoS> {H$aU 4) gmo{S>¶‘ H$m~m}ZoQ>
1) Which of the following is used to disinfect surfaces ?

1) Ultraviolet light 2) Autoclave 3) Infrared light 4) Sodium Carbonate

2) ‘bo[a¶m ¶m AmOmamda à^mdr bg {Z‘m©U H$aÊ¶mgmR>r AS>Wim {Z‘m©U hmoV Amho H$maU :
1) ßbmB‘mo{S>¶‘ hm noet‘Ü¶o amoJà{VH$maH$ à{V{H«$¶onmgyZ bnboë¶m AdñWoV AgVmo.
2) ßbmB‘mo{S>¶‘ hm n¥ð>^mJmdaMo à{WZo ~XbVmo.
3) ßbmB‘mo{S>¶‘bm OrdZMH«$ nyU© H$aÊ¶mgmR>r XmoZ ¶O‘mZ bmJVmV
4) (1) Am{U (2) XmoÝhr

2) The search for effective Malarial Vaccine is hampered due to the fact that :

1) Plasmodium lives inside cells hidden from immune response

2) Plasmodium changes its surface proteins

3) Plasmodium requires two hosts to complete life cycle

4) Both (1) and (2)

3) O¡d-d¡ÚH$s` H$Mam (ì`dñWmnZ Am{U hmVmiUr) {Z`‘m§‘Ü ò, ‘mZdr emar[aH$ H$Mam, àmÊ`m§Mm H$Mam, gm`Q>mo-
{dfmar Am¡fYm§gmR>r {e’$mag Ho$bobr à{H«$`m ......... hr Amho.
1) Am°Q>moŠboìh CnMma 2) hm`S´moŠboìh CnMma 3) ^ñ‘rH$aU 4) ‘m`H«$modoìh CnMma
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3) In the Bio-medical Waste (Management and Handling) Rules, process recommended for human

anatomical waste, animal waste, cyto-toxic drugs is ..........

1) Autoclave treatment 2) Hydroclave treatment

3) Incineration 4) Microwave treatment

3) Amamo½¶ H$m ©̀H«$‘
1) ""amï´>r¶ Amamo½¶ YmoaU'' (NHP) ho 15 dfmªÀ¶m H$mbmdYr Z§Va .............. ‘Ü¶o nwÝhm gwê$ H$aÊ¶mV Ambo.

1) 2010 2) 2020 3) 201 7 4) 2019
1) "The National Health Policy" (NHP) was released in ............. after a gap of 15 years.

1) 2010 2) 2020 3) 2017 4) 2019

2) Amamo½` Am{U gwa{jVVoda {Z §̀ÌU R>odUmao H$mhr ^maVr` H$m`Xo H$moUVo AmhoV?
A) B‘maV Am{U BVa ~m§YH$m‘ H$m‘Jma A{Y{Z`‘, 1966. ~) ISO 14000.
H$) H$maImZm H$m`Xm, 1948. S>) M.R.T.P. H$m`Xm, 1966
n¶m©¶r CÎma …
1) darb gd© 2) ’$º$ A 3) A Am{U H$ 4) A, H$ Am{U S>

2) Which are some of Indian pieces of legislation governing health and safety ?

a) Building and Other Construction Workers Act, 1966. b) ISO 14000.

c) Factories Act, 1948. d) M.R.T.P. Act, 1966

Answer Options :

1) All of the above 2) Only a 3) a and c 4) a, c and d

3) Imbrbn¡H$s H$moUË¶m g§ñWoÛmao 'V§~mIy hr n¥Ïdrbm {df~m{YV H$aUmar Amho' ¶m~Ôb Ahdmb gmXa H$aÊ¶mV Ambm
Amho?
1) OmJ{VH$ Amamo½¶ g§KQ>Zm 2) ¶w{Zgo’$
3) Zr{V Am¶moJ 4) Amamo½¶ Am{U Hw$Qw>§~ H$ë¶mU ‘§Ìmb¶

3) Which institution has released the report titled "Tobacco : Poisoning our Planet’ 2

1) World’ Health Organisation 2) UNICEF

3) NITI Aayog 4) Ministry of Health and Family Welfare

4) "Am¶wî¶‘mZ ^maV {S>{OQ>b {‘eZ' (ABDM) Mr ZmoS>b EOoÝgr åhUyZ Imbrbn¡H$s H$moU H$m‘ nhmVo ?
1) EAm¶Am¶E‘Eg (AIIMS) 2) Zr{V Am¶moJ
2) Am¶grE‘Ama (ICMR) 4) EZEMa (NHA)

4) Which is the nodal agency of Ayushman Bharat Digital Mission (ABDM) ?

1) AIIMS 2) NITI Aayog 3) ICMR 4) NHA

5) ì¶gZr ì¶º$s åhUOo -
1) Xoer Xmê$À¶m Amhmar Jobobr ì¶º$s
2) VmS>rÀ¶m Amhmar Jobobr ì¶º$s
3) H$moUË¶mhr àH$maÀ¶m CnbãY Xmê$À¶m Amhmar Jobobr ì¶º$s
4) H$moUË¶mhr Jw§JrH$maH$ Am¡fYrÐì¶o qH$dm ‘Zmoì¶mnmamda n[aUm‘ H$aUmè¶m nXmWm©À¶m Amhmar Jobobr ì¶º$s
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5) Addict means -

1) Addicted to country liquor

2) Addicted to toddy

3) Addicted to any kind of available liquor

4) Addicted to any narcotic drug or psychotropic substance

6) EZ.E’$.EM.Eg.-5 hr g§km H$emer {ZJS>rV Amho?
A) Amamo½¶ gd}jU ~) àmUr gd}jU H$) dZñnVr gd}jU S>) AÊdó gd}jU
da {Xboë¶m n¶m©¶m§n¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.

1) ’$º$ A 2) ’$º$ ~ 3) ~ Am{U H$ 4) ’$º$ S>
6) NFHS-5 deals with

a) health survey b) animal survey

c) plant survey d) nuclear weapon survey

Fill in the-blank by choosing an appropriate option given above.

1) Only a 2) Only b 3) b and e 4) Only d

7) ñdÀN>Vm{df¶H$ (sanitary) Am{U ’$m¶Q>mo g°{ZQ>ar Cnm¶¶moOZm Imbrb Jmoï>rer g§~§{YV AmhoV …
a) àmUr d dZñnVrMo Amamo½¶ d gwa{jVVm
b) AÞ gwa{jVVm
c) gm‘m{OH$ Amamo½¶ d gwa{jVVm
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.

7) Sanitary and Phyto sanitary measures deal with :

a) Animal and plant health and safety

b) Food safety

c) Social health and safety

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (a) and (c) are correct 4) Statements (a), (b) and (c) are correct

8) ^maVmÀ¶m amï´>r¶ Amamo½¶ YmoaUmV ........... , ............. Am{U ............ ¶m Cnm¶m§da ^a XoÊ¶mV Amcm Amho.
1) à{V~§YmË‘H$, ñnYm©Ë‘H$, nwZd©gZmË‘H$
2) nwZd©gZmË‘H$, g§ajUmË‘H$, ñnYm©Ë‘H$
3) à{V~§YmË‘H$, g§dY©ZmË‘H$, nwZd©gZmË‘H$
4) CnMmamË‘H$, g§ajUmË‘H$, g§dY©ZmË‘H

8) National Health Policy of India emphasises on .............. , ............... and .............. remedies.

1) Preventative, Competitive, Rehabilitative

2) Rehabilitative, Protective, Competitive

3) Preventative, Conservative, Rehabilitative

4) Curative, Protective, Conservative
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9) ZmJar ^mJmVrc Amem ñd¶§go{dH$m§Mr ŷ{‘H$m H$moUVr Amho ?
a)$gd© JamoXa ‘{hcm§Zm OdiÀ¶m A§JUdmS>r H|$ÐmVyZ aoeZ {‘idyZ XoUo.
b)$JamoXa ‘{hcm§À¶m Amamo½¶ g§ñWoV gwa{jV àgyVrgmR>r à¶ËZ H$aUo.
c) àgy{Vnyd© d¡ÚH$s¶ H$miOrH$[aVm g‘wnXoeZ H$aUo.
d)$Amnë¶m H$m¶©joÌmV ¶oUmè¶m gd© J ©̂dVr ‘{hcm§Mr ¶mXr H$aUo.
n¶m©¶r CÎmao …
1) (a),$(b)$Am{U (c)$ 2) (b),$(c)$Am{U (d)$
3) (b)$Am{U (c)$ 4) gd© n¶m©¶ ~amo~a AmhoV

9) What is the role of Asha Volunteers in urban areas ?

a) Providing ration to all pregnant women from the nearest Anganwadi centre.

b) To strive for safe delivery of pregnant women in the health institution.

c) Counselling for antenatal medical care.

d) Preparing a list of all pregnant women in her area.

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d)

3) (b) and (c) 4) All options are correct

10) ^maVmZo ‘mZZr¶ n§VàYmZ ¶m§Zr H$moUË¶m dfu àYmZ‘§Ìr gwa{jV ‘mV¥Ëd A{^¶mZm Mr KmofUm Ho$cr ?
1) 28 Owc¡, 2015 2) 29 Owc¡, 2016 3) 30 Owc¡, 2017 4) 31 Owc¡, 2016

10) When did Hon'ble Prime Minister of India announce the Prime Minister's Safe Motherhood

campaign ?

1) 28 July,20l5 2) 29 July, 2016 3) 30 July, 2017 4) 31 July, 2016

11) "Amem" (ASHA) ñd¶§go{dH$m§À¶m ~m~VrV Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
a)${hdVmn, j¶amoJ, gmWrÀ¶m amoJmda CnMmamgmR>r ‘XV H$aUo.
b)$Hw$Qw>§~ H$ë¶mU àMma Am{U J ©̂{ZamoYH$m§Mo dmQ>n H$aUo.
c)$‘mVm ñVZnmZ, cmoh¶wº$ Jmoù¶m d Amhma, BË¶mXtMo ‘mJ©Xe©Z H$aUo..
d)$OÝ‘-‘¥Ë¶y Zm|XUrV ‘XV H$aUo.
n¶m©¶r CÎmao …
1) ’$º$ $(b)$ 2) ’$º$ $(b)$ $ 3) (a),(b)$Am{U$(d)$ 4) darcn¡H$s Zmhr

11) Which of the following statement(s) is/are incorrect in the case of 'ASHA’ Swayamsevak ?

a) Helping to treat Malaria, Tuberculosis. and Epidemics.

b) Pamily Welfare Promotion and Distribution of Contraceptives.

c) To guide mother's breast-feeding, iron tablets and diet, etc.

d) Assisting in Birth and Death Registration.

Answer Options :

1) Only (a) 2) Only (b) 3) (a), (b) and (d) 4) None of the above

12) Imcrcn¡H$s H$moUVr g{‘Vr ‘hmamï´>mVrc Amamo½¶mer g§~§{YV ZìhVr ?
1) ^moa g{‘Vr 2) ‘wX{c¶ma g{‘Vr 3) lrdmñVd g{‘Vr 4) S>m§Jo g{‘Vr

12) Which of the following committees was not related to Health in Maharashtra ?

1) Bhore Committee 2) Mudaliar Committee

3) Srivastava Committee 4) Dange Committee
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(16) Am¡fYo Am{U bgr
1) Am¡fYm§Mo òmoV d {Z{‘©Vr
2) {d{dY amoJmda à^mdr Am¡fYo
3) bgr
4) Am¡fY {Z¶§ÌU H$m¶Xm d Am¡fYm§Mo Xþîn[aUm‘

1) Am¡fYm§Mo òmoV d {Z{‘©Vr
1) no{Z{gbrZÀ¶m ì¶mdgm{¶H$ CËnmXZmH$[aVm nr. Zm°Q>mQ>‘ Mr OmJm ........... Zo KoVbr Amho.

1) nr. H«$m`gmo{OZ‘ 2) nr. H°$‘U‘~oaQ>r 3) nr. amoJ’$moQ>u 4) nr. ~m¶boB
1) ...... has replaced P. notatum for commercial production of penicillin.

1) P. chrysogenum 2) P. comemberti 3) P. roqueforti 4) P. bilaiae

2) EÝPmBåg ........... AmhoV.
1) ewÕ à{WZo ~Zbobo 2) Cƒ AmpÊdH$ dOZ AgUo
3) 40 AmoC À`m nwT>o pñWa Zmhr 4) darb gd©

2) Enzymes are ...........

1) Made of pure protein 2) Having high molecular weight

3) Not stable beyond 40°C 4) All of the above

2) {d{dY amoJmda à^mdr Am¡fYo
1) Imbrbn¡H$s H$moUVo A±Q>rS>monm{‘Z{O©H$ Am¡fY A±Q>rE‘o{Q>H$ åhUyZ dmnabo OmVo?

1) ‘oQ>moŠbmoà°‘mBS> 2) a°{Z{Q>S>mBZ 3) Anmo‘m°{’©$Z 4) Am|S>ZgoQ´m°Z
1) Which of the following drugs is antidopaminergic used as an antiemetic?

1) Metoclopramide 2) Ranitidine 3) Apomorphine 4) Ondansetron

3) bgr
1) H$moUË¶m emókmZo Xodr amoJmdarb bgrMr emoY bmdbm?

1) bwB© nmíMa 2) ES>dS>© OoZa 3) Abo³Pm§S>a âboq‘J 4) goë‘Z dm°³g‘Z
1) Which scientist discovered small pox vaccine ?

1) Louis Pasteur 2) Edward Jenner 3) Alexander Flaming 4) Selman Waksman

2) bgrH$aUm‘Ü¶o {ÛVr¶ S>mogmMr/~wñQ>a S>mogmMr n[aUm‘H$maH$Vm Imbrbn¡H$s H$moUË¶m à{VqnS>mda Adb§~yZ AgVo?
1) A±Q>r~m°S>rO 'B©' 2) A±Q>r~m°S>rO 'E' 3) A±Q>r~m°S>rO 'Or' 4) A±Q>r~m°S>rO 'E‘'

2) During vaccination, which of the following antibody regulates efficacy of secondary dose/booster

dose ?

1) Immunoglobulin ‘E’ 2) Immunoglobulin ‘A’

3) Immunoglobulin ‘G’ 4) Immunoglobulin ‘MW’
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3) ........... Mr bg hr EH$m {Od§V ‘§X H$aÊ¶mV Amboë¶m {OdmUyÀ`m berMo CXmhaU Amho.
1) nQ>H$s 2) {df‘Áda 3) A±°W«°³g 4) ßboJ

3) ...... vaccine is an example of a live attenuated bacterial vaccine.

1) Cholera 2) Typhoid 3) Anthrax 4) Plague

4) ^maV-~m¶moQ>oH$ ¶m§Zr Xoem§VJ©V {dH${gV Ho$bobr H$moìh°³grZ hr H$mopìhS>-19 ‘hm‘mar darb bg ............. nmgyZ
V¶ma Ho$br Amho.
1) ‘¥V H$moamoZm {dfmUy 2) H$moamoZm {dfmUyÀ¶m S>r.EZ².E.
3) H$moamoZm {dfmUyMm E‘.Ama.EZ².E. 4) H$moamoZm {dfmUyÀ¶m nwZ…g§¶moOH$ E‘.Ama.EZ².E.

4) COVAXIN, an indigenous vaccine for COVID-19 pandemic developed by Bharat-Biotech is a

vaccine made of ......

1) Killed Coronavirus 2) DNA of Coronavirus

3) mRNA of Coronavirus 4) Recombinant mRNA of Coronavirus

5) Imcrcn¡H$s H$moUVr cg Vm|S>mdmQ>o {Xcr OmVo ?
1) ~°{gcg H¡$c²‘oQ>-JwE[aZ     2) g{~Z  3) gmc²H$ 4) JmcJw§S>, Jmoda, é~ocm

5) Which of the following vaccine is administered by oral route ?

(1) Bacillus Calmette-Guerin (2) Sabin

(3) Salk (4) Mumps, Measles, Rubella

4) Am¡fY {Z¶§ÌU H$m¶Xm d Am¡fYm§Mo Xþîn[aUm‘
1) H$moUVrhr ì¶º$s Z‘wÝ¶mÀ¶m CÔoemZo A{Ygy{MV Am¡fYo OmñVrV OmñV {H$Vr n[a‘mUmV Odi ~miJy eH$Vo?

1) 114 {‘br 2) 116 {‘br 3) 118 {‘br 4) 120 {‘br
1) What is the maximum quantity of any notified drug that may be possessed by any person for the

purpose of sample ?

1) 114 ml 2) 116 ml 3) 118 ml 4) 120 ml

2) ‘hmamï´> Xmê$~§Xr H$m¶Xm, 1949 À¶m H$b‘ 2(23) Zwgma ̂ maVr¶ ̂ m§J dZñnVrMr nmZo, bhmZ XoR> Am{U ’w$bm§Mm qH$dm
’$im§Mm e|S>m ...... Am¡fYo åhUyZ Kmo{fV H$aÊ¶mV Ambm Amho.
1) CËH¥$ï> 2) Amdí¶H$ 3) ghmæ¶H$ 4) darbn¡H$s H$moUVohr Zmhr

2) As per Section 2(23) of the Maharashtra Prohibition Act, 1949 the leaves, small stalks and

flowering or fruit tops of the Indian hemp plant is declared as ...... drugs.

1) superior 2) essential 3) supportive 4) None of the above

3) ‘hmamï´> {df {Z¶‘, 1972 AÝd¶o ³bmoab hm¶S´>oQ>Mm g‘mdoe H$moUË¶m n[a{eï>mV Ho$bm Amho?
1) n[a{eï> A 2) n[a{eï> ~ 3) n[a{eï> H$ 4) n[a{eï> S>

3) In which schedule is Chloral Hydrate included under the Maharashtra Poisons Rules, 1972 ?

1) Schedule A 2) Schedule B 3) Schedule C 4) Schedule D
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4) ‘§w~B© Am¡fY {Z¶§ÌU H$m¶Xm, 1959 Zwgma d¡ÚH$s¶ {M{H$ËgH$m§Mm AW© gm§JVo Vo Imbrbà‘mUo …
A) H$moUVrhr ì¶º$s Or eó{H«$¶m Am{U àgw{Vemómgh H$moUË¶mhr Am¡fY nÕVrMm Aä¶mg H$aVo.
~) EImÚm ì¶º$sH$S>o VÎdkmZmË‘H$ nXdr Amho Am{U ¶mo½¶ H$m¶Úm§VJ©V Vr Zm|XUrH¥$V Amho.
H$) H$moUVmhr Zm|XUrH¥$V X§V {M{H$ËgH$, Omo X§V{M{H$ËgH$ H$m¶Xm, 1948 (XVI) A§VJ©V ¶oVmo.
S>) H$moUVmhr newd¡ÚH$ Omo newd¡ÚH$ à°³Q>reZg© H$m¶Xm, 1953 ‘Ü¶o g‘m{dï> Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV?
1) ’$º$ {dYmZ A Am{U ~ 2) ’$º$ {dYmZ A, H$ Am{U S>
3) darb gd© 4) darbn¡H$s H$moUVohr Zmhr

4) The Bombay Drugs (Control) Act, 1959, prescribes the meaning of Medical Practitioner as under:

a) A person who practices any system of medicine including surgery and obstetrics.

b) A person who has Philosophical Degree and is registered in appropriate Act.

c) A registered dentist within the meaning of the Dentist Act, 1948 (XVI).

d) Veterinary practitioners within the meaning of the Veterinary Practitioners Act, 1953.

Which of the statements given above is/are correct ?

1) Only statements a and b 2) Statements a, c and d

3) All of the above 4) None of the above

5) Imbrbn¡H$s H$moUË`m Am¡fYm§‘wio J«o ~o~r qgS´mo‘ hmoD$ eH$Vmo?
1) E[aW«mo‘mB{gZ 2) qbH$mo‘m`{gZ
3) Z°{b{S>pŠgH$ E°{gS> 4) Šbmoam‘’o${ZH$m°b

5) Which of the following drugs may cause gray baby syndrome?

1) Erythromycin 2) Lincomycin

3) Nalidixic acid 4) Chloramphenicol
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(17) AÞ Am{U nmofU - ‘°H«$mo, gyú‘, I{ZOo, OrdZgÎdo
1) AÞ d nmofH$ KQ>H$
2) H$~m}XHo$
3) à{WZo
4) pñZ½Y nXmW©
5) jma d I{ZOo
6) OrdZgËd
7) nmofU H$m¶©H«$‘ d Amamo½¶
8) AÞYmÝ¶ nwadR>m d à{H«$¶m

1) AÞ d nmofH$ KQ>H$
1) Imbrbn¡H$s H$moUVo V¥UYmÝ` nrH$ AmOH$mb nmofH$ AÞYmÝ` åhUyZ AmoiIbo OmVo?

1) AmoQ²g 2) Jhÿ 3) Ádmar 4) ^mV
1) Which of the following cereal crop nowadays is recognized as “nutri-cereal ?

1) Oats 2) Wheat 3) Sorghum 4) Paddy

2) ‘°H«$moBbo‘|Q>g² åhUOo H$m¶ ?
1) Oo KQ>H$ H$‘r à‘mUmV bmJVmV 2) Oo KQ>H$ g‘ à‘mUmV bmJVmV
3) Oo KQ>H$ OmñV à‘mUmV bmJVmV 4) darbn¡H$s H$moUVohr Zmhr

2) What are macroelements ?

1) Elements required in small amounts 2) Elements required in equal amounts

3) Elements required in large amounts 4) None of the above

3) Imbrbn¡H$s H$moUVo A-nmofH$ ImÚ nXmW© AmhoV?
A) à{VO¡{dH$ ~) A±{Q>Am°pŠgS§>Q²g c) EÝPmBåg
n`m©¶r CÎmao :
1) A Am{U ~ ’$º$ 3) ~ Am{U H$ ’$º$ 3) darb gd© 4) H$mhrhr Zmhr

3) Which of the following are non-nutritive feed additives?

a) Antibiotics b) Antioxidants c) Enzymes

Answer Options :

1) a and b only 2) b and c only 3) all above 4) none

2) H$~m}XHo$
1) H$moUVo H$m~m}hm`SóQ> ’$º$ XwYmV AmT>iVo Am{U Ë`m‘wio XwYmnmgyZ ~Zdboë`m nXmWmª‘Ü ò Agy eH$Vo?

A) b°ŠQ>moO ~) J°boŠQ>moO H$) Pm`bmoO S>) ‘°ZmoO
n¶m©¶r CÎmao :
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A Am{U S> ’$º$ 4) A ’$º$
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1) Which carbohydrate is only found in milk and thus can be present in foods made from milk ?

a) Lactose b) Galactose c) Xylose d) Mannose

Answer options :

1) a and b only 2) b and c only 3) a and d only 4) a only

2) goë ẁbmoO ho Jwam§gmR>r à‘wI AmhmamVrb H$m~m}hm`SóQ> AgVmZm Imbrbn¡H$s H$moUVo dmînerb ’°Q>r E°{gS> V`ma hmoVo?
1) EgrQ>oQ> 2) ã ỳQ>raoQ> 3) ìh°boaoQ> 4) àmo{n`moZoQ>

2) Whcich of the follwoing volatile fatty acid is produced when cellulose is the major dietary

carbohydrate for cattle ?

1) Acetate 2) Butyrate 3) Valerate 4) Propionate

3) à{WZo
1) VmOo H$mnboë`m ‘m§gmÀ`m n¥ð>^mJmÀ`m D$VtMo d¡{eï²>`nyU© Am{U S>moù`m§Zm AmH$f©H$ M‘H$Xma bmb a§J H$maUr ŷV Amho.

A) Am°pŠg‘m¶mo½bmo{~Z ~) Am°pŠg{h‘mo½bmo{~Z
c) Am°pŠg‘m¶mo½bmo{~Z Am{U Am°pŠg{h‘mo½bmo{~Z d) H$mhrhr Zmhr
Imbrbn¡H$s H$moUVo ~amo~a Amho?
1) ’$º$ A 2) ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

1) The characteristic and eye appealing bright red colour of the surface tissues of freshly cut meat is

due to ......

a) Oxymyoglobin b) Oxyhaemoglobin

c) Oxymyoglobin and oxyhaemoglobin d) None

Which of the following is correct?

1) a only 2) b only 3) c only 4) d only

2) Mm§Jë`m àVrMo nZra ¶m à{H«$¶oÛmao {‘iVo......
A) XyY 900 C da Ja‘ H$aUo, 700 C n ª̀V W§S> H$aUo.
~) XyY 1000 C n ª̀V Ja‘ H$aUo, 300 C n ª̀V W§S> H$aUo.
H$) Am{U 10% gm`{Q´H$ E°{gS>Mo ÐmdU KmbyZ Ja‘ XwYmMo AmåbrH$aU H$aUo.
S>) Am{U 1% gm`{Q´H$ E°{gS> ÐmdU KmbyZ Ja‘ XwYmMo AmåbrH$aU H$aUo.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV?
1) A Am{U H$ 2) A Am{U S> 3) ~ Am{U H$ $ 4) ~ Am{U S>

2) A good quality paneer is obtained by

a) heating milk to 900 C, cooling to 700 C.

b) heating milk to 1000 C, cooling to 300 C.

c) and acidifying hot milk by adding 10% citric acid solution.

d) and acidifying hot milk by adding 1% citric acid solution.

Which of the statement/s given above is/are correct?

1) a and c 2) a and d 3) b and c 4) b and d
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3) bopŠQ>Z (ho‘°½½bw{Q>{ZZ) àW‘ Ea§S>ob/H°$ñQ>a ~rÝgnmgyZ doJio Ho$bo Jobo, Ë`m‘Ü ò [a{gZ ZmdmMo e{º$embr bopŠQ>Z
AgVo. eoVmVrb newYZm§Zm [a{gZ ẁº$ gãgQóQ>Mm Amhma {Xë`mg Ë`mMm .......... Agm{dnarV n[aUm‘ hmoVmo.
A) dmT> Am{U A{Vgma
~) nmofH$ VËdm§Mo emofU H$‘r hmoUo Am{U ~°ŠQ>o[a`mMm g§gJ© dmT>Uo.
H$) amoJà{VH$ma àUmbr.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) A ’$º$ 2) ~ Am{U H$ ’$º$ 3) A Am{U H$ ’$º$ 4) A,~ Am{U H$

3)  Lectins (Haemagglutinins) were first isolated from caster beans, which contains potent lectin

called ricin. Feeding of substrate containing ricin to farm livestock have adverse effect on .......

a) Growth and diarrhoea

b) Decreased nutrient absorption and increased bacterial infection.

c) Immune system.

Which of the statement given above is/are correct?

1) a only 2) b and c only 3) a and c only 4) a, b and c

4) {S>PmBZa EJ ho A§S>o Amho Á`m‘Ü ò {d{dY V§Ìm§Mm dmna H$ê$Z ‘mZH$ A§S>çmVyZ nmofH$ KQ>H$m§‘Ü ò ~Xb Ho$bo OmVmV.
A) H$m|~S>çm§‘Ü ò M`mnM` ~Xb KS>dyZ AmUUo.
~) A§S>çm§‘Ü ò g§̀ wJm§Mr hmbMmb gwb^ H$aÊ`mgmR>r nS>Xm dmhVwH$sMr d¡{eï²> ò ~XbyZ.
H$) H$m|~S>rÀ`m AmhmamV ’o$a’$ma H$ê$Z BpÀN>V g§̀ wJo A§S>çm‘Ü ò àdoe H$aVmV.
Imbrbn¡H$s H$moUVo ~amo~a Amho?
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A, ~ Am{U H$ 4) darbn¡H$s Zmhr

4) The "Designer Egg" is the egg in which the nutrient content has been modified from the standard

egg by using various techniques like.

a) By inducing metabolic changes in the hen.

b) By changing the characteristics of membrane transport to facilitate movement of compounds

into the eggs.

c) By manipulating the diet of the hen such that the desired compounds find their way into the

egg.

Which of the following is correct?

1) a and b only 2) b and c only 3) a, b and c 4) None

4) pñZ½Y nXmW©
1) Imbrbn¡H$s VQ>ñW {b{nS²g H$moUVo?

1) Q´m`{gbp½bgamoëg 2) ’$m°ñ’$mo{b{nS²g
3) ½bm`H$mo{b{nS²g 4) Am{H©$~°ŠQ>o[a`b BWa {b{nS²g

1) Which of the following is neutral lipids?

1) Triacylglycerols 2) Phospholipids

3) Glycolipids 4) Archaebacterial ether lipids
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2) Imcrcn¡H$s H$moUVo H$mocoñQ>oam°c ho Mm§Jco H$mocoñQ>oam°c åhUyZ Am|iIco OmVo ?
1) LDL H$mocoñQ>oam°c 2) VLDL H$mocoñQ>oam°c
3) LDL d VLDL H$mocoñQ>oam°c 4) HDL H$mocoñQ>oam°c

2) Which of the following cholesterol is considered as good cholesterol ?

1) LDL cholesterol 2) VLDL cholesterol

3) LDL and VLDL cholesterol 4) HDL cholesterol

5) jma d I{ZOo
1) {dÐmì`Vm H$‘r H$aUmao qH$dm I{ZOm§À`m dmnamV hñVjon H$aUmao nXmW© H$moUVo AmhoV?

A) bopŠQ>Ýg ~) Am°Šg°{bH$ A°{gS> c) ’$m`{Q>H$ A°{gS> S>) {Q´pßgZ
n`m©¶r CÎmao :
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

1) Which are the substances reducing solubility or interfering utilization of minerals?

a) Lectins b) Oxalic acid c) Phytic acid d) Trypsin

Answer Options

1) a only 2) a and b only 3) b and c only 4) c and d only

6) OrdZgËd
1) Imbrb OrdZgËd Ë`m§À`m H$‘VaVoÀ`m bjUm§er Owidm.

A) Wm`{‘Z i) Jwam§‘Yrb dopñQ>§J {gH$Zog
~) nm`arS>m°pŠgZ ii) H$m|~S>r {n„m§‘Ü ò nm°brÝ ỳam¶{Q>g
H$)gm`ZmoH$mo~mbm{‘Z iii) Sw>H$am§‘Yrb JyP ñQ>on
S>) n°ÝQ>moWo{ZH$ E°{gS> iv) Sw>H$am§‘Yrb A°{Z{‘¶m Am{U AmHw§$MZ
n`m©¶r CÎmao :

A ~ H$ S>
1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (iv) (ii)

1) Match the following Vitamin with their deficiency symptoms.

a) Thiamine i) Wasting sickness in cattle

b) Pyridoxine ii) Polyneuritis in chicks

c) Cyanocobalamin iii) Goose step in pigs

d) Pantothenic acid iv) Anaemia and convulsions in pigs

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (iv) (ii)



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 45

For Private Circulation Only

2) chmZ ‘wcm§‘Ü¶o OrdZgÎd 'S>r' Mo à‘mU EdT>o cmJVo ............
1) 200-400 {‘J«° 2) 20-40 IU 3) 200-400 IU 4) 200-400 ‘m¶H«$moJ«°‘

2) Requirement of Vitamin 'D' in child is ................. .

1) 200-400 mg 2) 20-40 IU 3) 200-400 IU 4) 200-400 ug

3) dZñn{VOÝ` AÞnXmWm©‘Ü¶o ao{Q>Zm°cÀ¶m EodOr Imcrc amgm¶{ZH$ KQ>H$ AgVo :
1) H$aHw$‘rZ 2) H$aHw$‘rZm°B©S> 3) H°$amoQ>rZ 4) H°$amo{Q>Zm°B©©S>

3) In vegetable foods, instead of Retinol following chemical is present :

1) Curcumine 2) Curcuminoid 3) Carotene 4) Carotenoid

4) Imcrc dm³¶o ZrQ> Aä¶mgm :
a) ao{Q>Zm°c, Wm`{‘Z, [a~moâco{dZ Am{U H$moco-H°$c{g’o$am°c hr OrdZgÎdo AmhoV.
b) OrdZgÎdo H$‘r à‘mUmV Oéar AgVmV.
c) A°gH$m°{~©H$ Amåc, ao{Q>Zm°c Am{U ³cmoamo’$sZ hr OrdZgÎdo AmhoV.
d) OrdZgÎd 'A' Mo Oéarnojm OmñV J«hU H$aUo ho amVm§YionUmg H$maUr ŷV hmoVo.
darcn¡H$s H$moUVo n¶m©¶/n`m©¶o gË¶ AmhoV ?
1) (a), (b) Am{U (d) ho gË¶ AmhoV 2) (c) Am{U (b) ho AgË¶ AmhoV
3) (c) Am{U (d) ho AgË¶ AmhoV 4) (a), (b) Am{U (c) ho gË¶ AmhoV

4) Read the following statements :

a) Retinol, Thiamin, Riboflavin and Cholecalciferol are Vitamins

b) Vitamins are needed in small quantities

c) Ascorbic acid, Retinol and Chlorofin are Vitamins

d) Excessive intake of vitamin 'A' can lead to night blindness

Which of the option given above is/are correct ?

1) (a), (b) and (d) are true 2) (c) and (b) are false

3) (c) and (d) are false 4) (a), (b) and (c) are true

5) OrdZgÎdm§Mo dJuH$aU Ago Ho$co OmVo ............
1) g|{Ð¶ Am{U Ag|{Ð¶ 2) Ma~r‘Ü¶o {daKiUmar Am{U nmÊ¶mV {daKiUmar
3) AË¶mdí¶H$ Am{U AZmdí¶H$ 4) g§V¥á Am{U Ag§V¥á

5) Vitamins are classified as .............

1) Organic and Inorganic 2) Fat and Water soluble

3) Essential and Nonessential 4) Saturated and Unsaturated

6) Imcr {Xcoë¶m dm³¶m‘Yrc Hw$R>co dm³¶ ho OrdZgÎd 'D' À¶m ~m~VrV ImoQ>o Amho ?
1) OrdZgÎd 'D' ho ËdMo‘Ü¶o V¶ma hmoÊ¶mgmR>r gy¶©àH$memMr Oéar AgVo.
2) Oéarnojm OmñV OrdZgÎd 'D' ho KmVH$ ZgVo.
3) OrdZgÎd 'D' À¶m H$‘VaVo‘wio [aHo$Q>g hmoVmo.
4) OrdZgÎd 'D' ho Ma~r‘Ü¶o {daKiUmao AgVo.

6) Which of the following statement regarding Vitamin 'D' is false ?

1) Sunlight exposure is necessary for formation of Vitamin 'D' in skin.

2) Excess of Vitamin 'D' is not harmful

3) Deficiency of Vitamin 'D' leads to Rickets.

4) Vitamin 'D' is fat soluble
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7) nmofU H$m¶©H«$‘ d Amamo½¶
1) Imbrbn¡H$s H$moUË¶m d`moJQ>mVrb ‘wbm§Zm amï´>r` AÞ gwajm H$m`Xm, 2013 Zwgma nmofU{df`H$ JaOm {‘iÊ`mMm

A{YH$ma Amho ?
1) 0 Vo 6 df} 2) 6 Vo 14 df} 3) 0 Vo 14 df} 4) darbn¡H$s H$mhrhr Zmhr

1) The children of following age are entitled to nutritional needs as per the National Food Security

Act, 2013 :

1) 0 to 6 years 2) 6 to 14 years 3) 0 to 14 years 4) None of the above

2) Nw>nr ŷH$ åhUOo ......
1) Ooìhm nmofH$ VËdm§Mr H$‘VaVm AgVo Voìhm H$‘VaVoMr bjUo {XgVmV.
2) H$‘VaVoMr bjUo {Xgbr Zgbr VargwÕm CËnmXZmV ’$ma ‘moR>r KQ> hmoD$ eH$Vo.
3) nmofH$ KQ>H$m§Mr H$‘VaVm ZgVmZmhr H$‘VaVoMr bjUo AmT>iVmV.
4) H$‘VaVoMr Ñí¶ bjUo BVa KQ>H$m§Ûmao Xm~br OmVmV.

2) “Hidden Hunger” means ......

1) Deficiency symptoms are seen when the nutrient is deficient

2) Severe yield reduction may occur without appearance of deficiency symptoms

3) The nutrient is not deficient but apparently seems to be deficient

4) Visual deficiency symptoms are suppressed by other elements

3) Imcrcn¡H$s H$moUË¶m KQ>H$m§Mm nwañH$ma ~mcH$m§À¶m dmT>rgmR>r ẁ{Zgo’$ H$aVo ?
a)$J«moW MmQ>© b)$Amo. Ama. Eg. c)$~«oñQ>-’$sS>§tJ d)$Bå¶wZm¶PoeZ
e)$³dma§Q>mB©Z
n¶m©¶r CÎmao :
1) (a) Am{U (e) 2) (a),(b),(e) Am{U (d)

3)(b),(c),(d) Am{U (e) 4) (a),(b),(c) Am{U (d)

3) Which of the following points are promoted by UNICEF for child development ?

a) Growth chart b) ORS c) Breast-feeding

d) Immunisation e) Quarantine

Answer Options :

1) (a) and (e) 2) (a) (b), (e) and (d)

3) (b), (c), (d) and (e) 4) (a), (b), (c) and (d)

4) ñWm{ZH$ nmVirdaMm XwîH$mi Am{U Iwë`m Hw$nmofUmnmgyZ Xya amhUo ho ................ Mo à‘wI C{Ôï> Amho.
1) AÞ gwajm 2) ñd §̀nyU©Vm 3) AÞ YmoaU  4) VyQ> CËnmXZ

4) To avoid localised widespread famine and open undernutrition is one of the principal objectives

of ................

1) food security 2) self-sufficiency 3) food policy 4) deficit production
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8) AÞYmÝ¶ nwadR>m d à{H«$¶m
1) ........ gmbmÀ¶m ‘Ü¶mn ª̀V, Am`mV Ho$bobo AÞYmÝ`, gmd©O{ZH$ {dVaU àUmbr A§VJ©V ‘moR>çm à‘mUmV nwa{dbo Jobo.

1) 1965 2) 1970 3) 1975 4) 1980
1) Upto mid ............, the Public Distribution System was fed to a considerable extent by imported

foodgrains.

1) 1965 2) 1970 3) 1975 4) 1980

2) Xw½Yì`dgm`mV gdm©V gm‘mÝ` nmíMam`PoeZ ........... òWo Ho$bo OmVo.
1) 15 goH§$Xm§gmR>r 72 °C 2) 3 goH§$Xm§gmR>r 63 °C 3) 5 goH§$Xm§gmR>r 72 °C 4) 1 goH§$XmgmR>r 85 °C

2) The most common pasteurization followed in dairy is carried out at ...........

1) 72°C for 15 seconds 2) 63°C for 3 seconds

3) 72°C for 5 seconds 4) 85°C for.1 second

3) nmdgmda Adb§~yZ eoVr àXoemVyZ OJmg EHy$U ImÚmÝ¶mÀ¶m ....... Q> o̧$ AÞnwadR>m hmoVmo.
1) 50 2) 60 3) 70 4) 75

3) ........ percent of world’s staple food is harvested from rainfed areas.

1) 50 2) 60 3) 70 4) 75

4) 1995 ‘Ü ò JìhmMr IaoXr 1965 À`m VwbZoV ......... nQ>tZr dmT>br.
1) 27 2) 30 3) 33 4) 36

4) The procurement of wheat in 1995 increased by ............. fold from that of 1965.

1) 27 2) 30 3) 33 4) 3

5) ^maVmVrb gmd©O{ZH$ {dVaU àUmbr‘Ü ò AÞYmÝ`mMr IaoXr, {dVaU Am{U gmR>dUyH$ H$aUmar ZmoS>b EOÝgr
H$moUVr?
1) JmoS>mD$Z {dH$mg Am{U {Z`m‘H$ àm{YH$aU
2) Z°eZb A°{J«H$ëMab H$moAm°nao{Q>ìh ‘mH}$qQ>J ’o$S>aoeZ Am°’$ B§{S>`m {b
3) ^maVr` AÞ ‘hm‘§S>i
4) amÁ` nUZ ‘§S>i

5) In Public Distribution System in India which is the nodal agency that undertakes procurement,

distribution and storage of food grains ?

1) Warehousing Development and Regulatory Authority

2) National Agricultural Cooperative Marketing Federation of India Ltd

3) Food Corporation of India

4) State Marketing Board

6) qb~ydJu` ag H$mT>Ê`mgmR>r Imbrbn¡H$s H$moUVo EÝPmB‘ dmnabo OmVo?
1) a-Amylase 2) Catalase 3) Pectinase 4) Lactase

6) Which of the following enzyme is used in citrus juice extraction ?

1) a-Amylase 2) Catalase 3) Pectinase 4) Lactase
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7) AÞYmÝ¶mMr ‘mJUr àm‘w»¶mZo .......... ‘wio dmT>br Amho.
a) bmoH$g§»¶oMr doJoZo dmT> b) CËnÞmVrb dmT>
c) AÞYmÝ¶mMo H$‘r CËnmXZ d) AÞYmÝ¶mÀ¶m H$‘r qH$‘Vr
n¶m©¶r CÎmao …
1) (a) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 2) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV.
3) (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.

7) The foodgrain demand had risen mainly due to ............

a) rapid increase in population b) rise in income level

c) low foodgrain production d) low prices of foodgrains

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (c) and (d) are correct 4) Statements (a), (b), (c) and (d) are correct

8) Joë¶m XmoZ XeH$mV, ^maVmVrb AÞYmÝ¶mÀ¶m CËnmXZmMr dmT> ‘§Xmdbr Amho H$maU ............
a) AÞYmÝ¶ {nH$mImbrb joÌmV KQ> hmoD$Z BVa {nH$mImbrb joÌmV dmT> Pmbr
b) Cƒ CËnmXZ j‘VoÀ¶m nÅ>`m‘Ü ò Z¡g{J©H$ g§gmYZmÀ¶m èhmgm‘wio emídVrH$aUm‘Ü¶o CX²̂ dUmao àíZ
c) gZ 2001-02, 2002-03 Am{U 2004-05 ¶m dfm©‘Ü¶o nS>bobm XþîH$mi
d) AÞYmÝ¶ {Z¶m©Vrda bmXbobo {Z~ªY
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 2) (a), (b) Am{U (c) {dYmZo `mo½` AmhoV.
3) (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 4) darbn¡H$s gd© {dYmZo ¶mo½¶ AmhoV

8)  During the last two decades, the growth of foodgrains production in India has decelerated on

account of

a) fall in area under foodgrains due to diversification to other crops

b) deceleration in yield due to emerging issues of sustainability arising out of degradation of

natural resources in high potential belts

c) occurrence of drought in years 2001 — 02, 2002 — 03 and 2004 — 05

d) imposition of export restrictions on foodgrains

Answer Options :

1) Statements (a) and (b) are correct 2) Statements (a), (b) and (c) are correct

3) Statements (b), (c) and (d) are corrected 4) All the above statements are correct
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(18) ^maVmVrb {dkmZ Am{U V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$
1) ‘hÎdmMo emók d g§emoYH$
2) ‘hÎdmÀ¶m g§emoYZ g§ñWm
3) ‘hÎdmMo V§ÌkmZ
4) V§ÌkmZ YmoaU, ¶moOZm
5) nwañH$ma, ~hþ‘mZ

1) ‘hÎdmMo emók d g§emoYH$
1) ^maVr¶ V§Ì {ejU g§ñWm IaJnya Mo g§ñWmnH$ g§MmcH$ .......... ho hmoVo.

1) ga gr. ìhr. a‘Z 2) n§{S>V Odmhacmc Zohê$   3) B§{Xam Jm§Yr 4) amOrd Jm§Yr
1) Founding Director of the Indian Institute of Technology, Kharagpur was

1) Sir C.V. Raman 2) Pandit Jawaharlal Nehru

3) Indira Gandhi 4) Rajiv Gandhi

2) Ý¶m{¶H$ {dkmZ ‘Yrb "XodmUKodmU {gÕm§V' H$moUr ‘m§S>bo ?
1) ga ’«$mpÝgg JmëQ>Z 2) ga AmW©a H$m°ZZ S>m°¶b
3) h§g J«m°g 4) ES>‘§S> bmoH$mS>©

2) In Forensic Science, who authored "The Principle of Exchange" ?

1) Sir Francis Galton 2) Sir Arthur Conan Doyle

3) Hans Gross 4) Edmond Locard

2) ‘hÎdmÀ¶m g§emoYZ g§ñWm
1) B§{S>`Z BpÝñQ>Q>µ̀ yQ> Am°’$ ’$m{‘ªJ {gñQ>r‘ [agM© ........ òWo Amho.

1) Zdr {X„r 2) ‘moXrnwa‘-‘oaR> 3) amO|ÐZJa-h¡Xam~mX 4) H$moB©å~Vya
1) Indian Institute of Farming Systems Research is located at ..........

1) New Delhi 2) Modipuram-Meerut

3) Rajendranagar-Hyderabad 4) Coimbatore

2) H|$Ðr` H§$X nrH$ g§emoYZ g§ñWm ...... òWo Amho.
1) {Vé{Mamn„r 2) {Véd§Vnwa‘ 3) no[a`mHw$b‘ 4) H$moB©å~Vya

2) The Central Tuber Crops Research Institute is situated at ......

1) Tiruchirappalli 2) Thiruvanthapuram 3) Periyakulam 4) Coimbatore

3) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
ICAR g§ñWm/g§emoYZ H|$Ð  ñWmZ

A) Z°eZb [agM© g|Q>a ’$m°a J«oßg I) ‘w§~B©
~) S>mqi~mgmR>r amï´>r` g§emoYZ H|$Ð II) ZmJnya
H$) g|Q´b BpÝñQ>Q>çyQ> Am°’$ [agM© Am°Z H$m°Q>Z Q>oŠZm°bm°Or III) nwUo
S>) g|Q´b qb~ydJu` g§emoYZ g§ñWm IV) gmobmnya

V) Zm{eH$
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n¶m©¶r CÎmao …
(A) (~) (H$) (S>)

1) III IV I II

2) V IV II III

3) III V II IV

4) IV III II V

3) Maich the following:

ICAR Institutes/Research Centres Location

a) National Research Centre for Grapes I) Mumbai

b) National Research Centre for Pomegranate II) Nagpur

c) Central Institute of Research on Cotton Technology III) Pune

d) Central Citrus Research Institute IV) Solapur

V) Nashik

Answer options :

(a) (b) (c) (d)

1) III IV I II

2) V IV II III

3) III V II IV

4) IV III II V

4) H|$Ðr` Vm§Xyi g§emoYZ g§ñWm (CRRI) Mr ñWmnZm H$Q>H$, Amo{S>em òWo Pmbr.
1) 1911 2) 1946 3) 1965 4) 1966

4) Central Rice Research Institute (CRRI) was established at Cuttack, Odisha in the year .

1) 1911 2) 1946 3) 1965 4) 1966

5) Á ỳQ> A±S> AbmB©S> ’$m`~g©gmR>r H|$Ðr` g§emoYZ g§ñWm (CRIJAF) òWo Amho
1) PmaI§S> 2) N>ÎmrgJS> 3) npíM‘ ~§Jmb 4) {~hma

5) The Central Research Institute for Jute and Allied Fibres (CRIJAF) is located in

1) Jharkhand 2) Chhattisgarh 3) West Bengal 4) Bihar

6) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
A) BpÝñQ>Q>çyQ> Am°’$ dwS> gm`Ýg A±S> Q>oŠZm°bm°Or (IWST) i) O~bnya
~) CîUH${Q>~§Yr` dZ g§emoYZ g§ñWm (TFRI) ii) am§Mr
H$) ewîH$ dZ g§emoYZ g§ñWm (AFRI) iii) ~|Jiwê$
S>) dZ CËnmXH$Vm g§ñWm (IFP) iv) OmoYnya
n¶m©¶r CÎmao :

(A) (~) (H$) (S>>)
1) (iii) (iv) (i) (ii)

2) (ii) (i) (iii) (iv)

3) (iii) (i) (iv) (ii)

4) (i) (iii) (ii) (iv)
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6) Match the pair :

a) Institute of Wood Science and Technology (IWST) i) Jabalpur

b) Tropical Forest Research Institute (TFRI) ii) Ranchi

c) Arid Forest Research Institute (AFRI) iii) Bengaluru

d) Institute of Forest Productivity (IFP) iv) Jodhpur

Answer options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (ii) (i) (iii) (iv)

3) (iii) (i) (iv) (ii)

4) (i) (iii) (ii) (iv)

7) Imcrcn¡H$s H$moUVr g§ñWm ^maVmVrc Vm§{ÌH$ Am{U ì¶dñWmnZ {ejUmÀ¶m JwUdÎmoda cj R>odVo ?
1) NCTE 2) MCI 3) AICTE 4) CSIR

7) Which of the following organisation looke after the quality of Technical and Management

Education in India ?

1) NCTE 2) MCI 3) AICTE 4) CSIR

8) Imbrbn¡H$s H$moUVr g§ñWm n`m©daU Am{U dZ ‘§Ìmb`, Zdr {X„rMr ñdm`Îm g§ñWm Zmhr?
1) JmoqdX ~„^ n§V BpÝñQ>Q>çyQ> Am°’$ {h‘mb`Z EÝìhm`Z©‘|Q> A±S> S>oìhbn‘|Q>, Aë‘moS>m.
2) B§{S>`Z BpÝñQ>Q>çyQ> Am°’$ ’$m°aoñQ> ‘°ZoO‘|Q>, ^monmi.
3) ^maVr` dÝ`Ord g§ñWm, S>ohamSy>Z.
4) B§{Xam Jm§Yr amï´>r` dZ AH$mX‘r, S>ohamSy>Z.

8) Which one of the following is not the autonomous organization of Ministry of Environment and

Forest, New Delhi ?

1) Govind Ballabh Pant Institute of Himalayan Environment and Development, Almora.

2) Indian Institute of Forest Management, Bhopal.

3) Wildlife Institute of India, Dehradun.

4) Indira Gandhi National Forest Academy, Dehradun.

9) Am§Vaamï´>r` dZrH$aU g§emoYZ H|$Ð (CIFOR) òWo Amho:
1) ~moJmoa, B§S>moZo{e`m 2) `moH$mohm‘m, OnmZ 3) Zdr {X„r, ^maV 4) amo‘, BQ>br

9) The Centre for International Forestry Research (CIFOR) is located at :

1) Bogor, Indonesia 2) Yokohama, Japan 3) New Delhi, India 4) Rome, Italy

10) amï´>r¶ Ñï>r {Xì¶m§JOZ geº$sH$aU g§ñWm ........... ‘Ü¶o Amho.
1) ‘gwar 2) O¶nya 3) S>ohamSy>Z 4) {e‘cm

10) National Institute for the Empowerment of Persons with Visual Disabilities is located in

1) Mussoorie 2) Jaipur 3) Dehradun 4) Shimla

11) Acr ¶mda O§J ldU An§Jm§gmR>rÀ¶m amï´>r¶ g§ñWoMr àmXo{eH$ H|$Ðo Hw$R>o AmhoV ?
a)$H$mocH$mVm, ZmoES>m b)${gH§$Xam~mX, OmZcm c)$MoÞB©, Ah‘Xm~mX d)$ cIZm¡, cw{Y¶mZm
n¶m©¶r CÎmao :
1) (a)$Am{U (b)$ 2) ’$º$ (c)$ 3) ’$º$ (d)$ 4) (c) Am{U (d)$
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11) Where are the regional centres of Ali Yavar Jung National Institute of Speech and Hearing

Disabilities ?

a) Kolkata, Noida b) Secunderabad, Janla

c) Chennai, Ahmedabad d) Lucknow, Ludhiana

Answer Options :

1) (a) and (b) 2) Only (c) 3) Only (d) 4) (c) and (d)

12) Imbrb {dYmZo nmhm …
a) BòmoMo ‘w»¶mb¶ MoÞB© ¶oWo Amho.
b) BòmoMr ñWmnZm gZ 1969 ‘Ü¶o Ho$br.
c) Ho$. ‘mYdZ ho BòmoMo g§MmbH$ AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ (a) Am{U (b) ~amo~a AmhoV 2) {dYmZ (b) ~amo~a Amho
3) {dYmZ (a) Am{U (c) ~amo~a AmhoV 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV

12) Observe the following statements.

a) The headquarters of ISRO is at Chennai.

b) ISRO was established in 1969.

c) K. Madhavan ia the director of ISRO.

Answer Options :

1) Statements (a) and (b) are correct 2) Statement (b) is correct

3) Statements (a) and (c) are correct 4) Statements (a), (b) and (c) are correct

13) ^maVm‘Ü¶o {H$aUmoËgJm©nmgyZ qH$dm AUyD$Om© àUmbr nmgyZ g§ajU XoÊ¶mMr ImÌr XoUo ho ....... ¶m g§ñWoMo ‘w»¶ H$m‘
Amho.
1) {d{H$aU d g‘ñWm{ZHo$ V§ÌkmZ ‘§S>i (BRIT) 2) ^maVr¶ A§Vami H|$Ð
3) Q>mQ>m ‘yc ŷV g§emoYZ H|$Ð 4) AUy D$Om© {Z¶m‘H$ ‘§S>i (E.B©.Ama.~r.)

13) To ensure the protection from radioactive emission or atomic energy radiation in India is the

main function of

1) Board of Radiation and Isotope Technology 2) Indian Space Centre

3) Tata Institute of Fundamental Research 4) Atomic Energy Regulatory Board (AERB)

14) XoemVrc n{hcr Ord-d¡ÚH$s¶ g§emoYZ g§ñWm Imcrcn¡H$s H$moUVr Amho ?
1)  S>m°. Zm¶Sy> gm§g{J©H$ amoJ g§ñWm, nwUo 2) hm’${H$Z, ‘w§~B©
3)  {gncm, Jmodm 4) S>m°. ^m^m g§emoYZ H|$Ð, ‘w§~B©

14) Which of the following is the first organism medical research institute in the country ?

1) Dr. Naidu Sansargik Rog Sanstha, Pune 2) Haffkine, Mumbai

3) CIPLA, Goa 4) Dr. Bhabha Research Centre, Mumbai

15) amï´>r¶ cmoH$mo‘rQ>a (ApñWì §̀J) An§Jm§gmR>rMr g§ñWm ........... ‘Ü¶o Amho.
1) ‘w§~B© 2) H$mocH$mVm 3) {X„r 4) MoÞB©

15) National Institute for Locomotor Diaabilitiea ia located in

1) Mumbai 2) Kolkata 3) Delhi 4) Chennai
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16) ........... ‘Ü¶o amï´>r¶ Ob{dÚm g§ñWm ¶m ñdm¶Îm g§ñWoMr ñWmnZm H$aÊ¶mV Ambr.
1) 1969 2) 2018 3) 1978 1996

16) National Institute of Hydrology (NIH) was established in ............... as an autonomous organisation.

1) 1969 2) 2018 3) 1978 4) 1996

17) ^maV gaH$maZo ............ øm dfu amï´>r¶ nmUr {dH$mg g§ñWoMr (NWDA) ñWmnZm Ho$br.
1) 1984 2) 1980 3) 1982 4) darbn¡H$s Zmhr

17) The Government of India established National Water Development Agency (NWDA) in the year

1) 1984 2) 1980 3) 1982 4) None of the above

18) ^maVmV CnJ«h ~Z{dÊ¶mMo ‘w»¶ H|$Ð H$moR>o Amho ?
a) ¶w.Ama.Eg.gr., ~§Jbmoa b) ìhr.Eg.Eg.gr., {WédZ§Vnya‘
c) Q>r.B©.Ama.Eb.Eg., Ww§~m d) g{Ve YdZ ñnog [agM© g|Q>a, lrharH$moQ>m
n¶m©¶r CÎmao …
1) (b) 2) (a) 3) (d) 4) (c)

18) Which is the lead centre for building satellites in India ?

a) URSC, Bengaluru b) VSSC, Thiruvananthapuram

c) TERLS, Thumba d) Satish Dhawan Space Research Centre, Sriharikota

Answer Options :

1) (b) 2) (a) 3) (d) 4) (c)

19) ""amOrd Jm§Yr amï´>r¶ ŷOb à{ejU Am{U g§emoYZ g§ñWm'' ....... ¶m eham‘Ü¶o Am{U ............ ¶m amÁ¶m‘Ü¶o
ñWm{nV Amho.
1) ZmJnya, ‘hmamï´> 2) am¶nya, N>ÎmrgJT> 3) nQ>Zm, {~hma 4) AmJ«m, CÎma àXoe

19) ‘Rajiv Gandhi National Ground Water Training and Research Institute” is located at .............. in

the State of

1) Nagpur, Maharashtra 2) Raipur, Chhattisgarh

3) Patna, Bihar 4) Agra, Uttar Pradesh

3) ‘hÎdmMo V§ÌkmZ
1) H$mnS>mÀ¶m XmoZ VwH$S>çm§Zm EH$Ì R>odUmè¶m ~Q>Zm§Zm MoZbm n¶m©¶ åhUyZ 'doëH«$mo'Mr {Z{‘©Vr pñdËPbªS>‘Yrb B§{O{ZAa

...... ¶m§Zr 1948 ‘Ü¶o Ho$br.
1) Amë~Q>© AmBÝñQ>mZ 2) Om°O© S>r. ‘oñQ´>m°b 3) aoZo War 4) noao ho‘oa

1) A Velcro was produced by Switzerland engineer _ in 1948 as the alternate for a button or chain

for fastening two pieces of fabric.

1) Albert Einstein 2) George D. Mestrol 3) Rene Thury 4) Pierre Hemmer

2) .............. hr EH$ ñdV§Ì, ^maVr¶ CnJ«hmda AmYmarV ñWmZ-Xe©H$ àUmbr Amho.
1) NavIC (ZoìhrJoeZ {dW B§{S>¶Z H$m°ÝñQ>oboeZ) 2) GAGAN (Or.nr.Eg.ES>oS> OrAmo Am°½¶w‘oÝQ>oS> ZoìhrJoeZ)
3) GPS (½bmo~b nmo{PeqZJ {gñQ>r‘) 4) AIPS (Am¶©̂ Å> B§{S>¶Z nmo{PeqZJ {gñQ>r‘)
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2) The independent, Indian Satellites based positioning system is ............

1) NavIC (Navigation with Indian Constellation)

2) GAGAN (GPS Aided Geo Augmented Navigation)

3) GPS (Global Positioning System)

4) AIPS (Aryabhatta Indian Positioning System)

3) ^maVr¶ A§Vami g§emoYZ g§ñWm (ISRO) Am{U ^maVr¶ {d‘mZVi àm{YH$aU (AAI) ¶m§Zr g§¶wº$nUo ZmJar hdmB©
dmhVyH$ Cn¶moOZm§gmR>r {dH${gV Ho$boë¶m àUmbrMo Zmd ........ ho Amho.
1) Or.nr.Eg.ES>oS> OrAmo Am°J‘|Q>oS> ZoìhrJoeZ (GAGAN) {gñQ>r‘
2) ñQ>±S>S>© nmo{PeqZJ {gñQ>r‘ (SPS)

3) {OAmoJ«m’$sH$ BÝ’$m°‘}eZ {gñQ>r‘ (GIS)

4) B§{S>¶Z [aOZb ZoìhrJoeZ g°Q>ocmB©Q> {gñQ>r‘ (IRNSS)

3) The system developed jointly by the Indian Space Research Organization (ISRO) and the Airport

Authority of India (AAI) for civil aviation application is

1) GPS Aided Geo Augmented Navigation (GAGAN) System

2) Standard Positioning System (SPS)

3) Geographic Information System (GIS)

4) Indian Regional Navigation Satellite System (IRNSS)

4) Bòmo (ISRO) Ûmam {Z{‘©V d g§M{cV, ŷ-joÌr¶ ‘m{hVr, godm Am{U {díbofU gmYZo Agbobo amï´>r¶ ŷ-g§Ho$V ñWi
(OrAmo-nmoQ>©b) ............. ho Amho.
1) ̂ y‘mnZ (Bhumaapan) 2) ̂ wdZ (Bhuvan)

3) ̂ y-Bòmo (Bhu-ISRO) 4) ̂ maV- ŷ (Bharat-bhu)

4) ...... is the national geo-portal developed and hosted by the ISRO comprising of geo-spatial data,

services and tools for analysis.

1) Bhumaapan 2) Bhuvan 3) Bhu-ISRO 4) Bharat-bhu

4) V§ÌkmZ YmoaU, n[afXm, H$m‘{Jar, ¶moOZm
1) ^maVmV ~m¡{ÕH$ g§nXoÀ¶m ‘wXVrMm H$mbmdYr hm ............. Pmë¶m/Ho$ë¶m nmgyZ 20 dfm©n¶ªV AgVmo.

1) ~m¡{ÕH$ g§nXo Mm AO© XmIb 2) ~m¡{ÕH$ g§nXo Mr MmMUr narjm
3) ~m¡{ÕH$ g§nXo Mo à‘mUnÌ àmá 4) ~m¡{ÕH$ g§nXo Mo {ddaU àH$merV

1) The term of patent in India is for 20 years from the date of ......

1) filing the application 2) examination of the patent

3) receipt of the patent certificate 4) publication of details of patent

2) g|Ðr¶ H¥$fr g§emoYZ g§ñWm (E’$.Am¶.~r.Eb.) Am{U Am§Vaamï´>r¶ g|Ðr¶ H¥$fr Midir AmH$S>odmar, 2020 À¶m
Am§Vaamï´>r¶ g§gmYZ AmH$S>odmarZwgma à‘m{UV g|Ðr¶ eoVO{‘ZrÀ`m ~m~VrV ^maV H$moUË¶m ñWmZmda Amho ?
1) 3 è¶m 2) 7 ì¶m 3) 9 ì¶m 4) 12 ì¶m

2) As per the international resource data from the Research Institute of Organic Agriculture (FiBL)

and the International Federation of Organic Agriculture Movements (IFOAM) Statistics, 2020,

India stands at which position in terms of organic certified agricultural land ?

1) 3rd 2) 7th 3) 9th 4) 12th
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3) H|$Ð gaH$maÀ¶m AIË¶marVrb Imbrbn¡H$s H$moUË¶m {R>H$mUr A’y$Mr {Z{‘©Vr Ho$br OmVo?
1) JmOrnya Am{U {Z‘M 2) ‘X§gra Am{U C‚m¡Z 3) B§Xmoa Am{U ‘hÿ 4) Abmhm~mX Am{U ½dmëhoa

3) In which of the following places, under the Central Government is opium manufactured ?

1) Ghazipur and Neemuch 2) Mandsaur and Ujjain

3) Indore and Mhow 4) Allahabad and Gwalior

4) 1951 ¶m dfm©‘Ü¶o V§Ì{ejUmMm {dH$mg hmoÊ¶mgmR>r ^maVmg gd©àW‘ AZwXmZ ............ Zo {Xco.
1) ¶wZoñH$mo 2) ¶w. Eg. E. 3) ¶w. Ho$. 4) Am°ñQ´>o{c¶m

4) In the year 1951 .......... has given grants to India for first time for .the development of technical

education.

1) UNESCO 2) USA 3) UK 4) Australia

5) emgH$s¶ H$‘©Mmè¶mZo bmdboë¶m emoYm~Ôb, noQ>§Q> {‘i{dÊ¶m~m~V Imbrbn¡H$s H$moUVo {dYmZ AMyH$ Amho ?
1) Vm§{ÌH$ g§emoYZmMo H$V©ì¶ nma nmS>Umè¶m emgH$s¶ H$‘©Mmè¶mZo noQ>§Q>gmR>r AO© Ho$bm.
2) d¡km{ZH$ godoMo H$m‘ A§V ŷ©V Agboë¶m g§ñWoÀ¶m A{YH$mè¶mZo, Ë¶mZo bmdboë¶m emoYm~Ôb noQ>§Q> {‘i{dbo.
3) emgH$s¶ H$‘©Mmè¶mZo, Ë¶mZo bmdboë¶m emoYmMr ‘m{hVr AÝ¶ ì¶º$sbm XoD$Z à{gÕ Ho$br.
4) g§emoYZ g§ñWoMm à‘wI Agboë¶m emgH$s¶ H$‘©Mmè¶mZo VmËnwaË¶m {d{ZX}enÌmgh noQ>§Q>gmR>r AO© Ho$bm.

5) Which of the following statements is correct about an invention made by a government em-

ployee, obtaining a patent?

1) A government employee performing the duty of technical research applied for a patent.

2) An officer of an organization involved in scientific service, obtained a patent for an invention

made by him.

3) A Government servant, having disclosed the information of his discovery to another person.

4) A government employee who is the head of a research institute applied for a patent with a

provisional specification.

5) nwañH$ma, ~hþ‘mZ
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(19) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV gw{dYm§Mm {dH$mg
1) D$Om© V§ÌkmZ
2) dmhZ V§ÌkmZ d dmhVyH$
3) J¥h{Z‘m©U d ~m§YH$m‘ V§ÌkmZ
4) nmUr nwadR>m d g’$mB© V§ÌkmZ
5) XiUdiU (nmoñQ> d Q>o{bJ«m’$, Xÿag§Mma), ao{S>Amo, Xÿa{MÌdmUr
6) JwÝhm AÝdofU V§ÌkmZ
7) Amamo½¶ d AÞ joÌmer g§~§{YV V§ÌkmZ
8) {ejU, H$m¡eë¶ d ‘Zwî¶~i {dH$mg joÌmer g§~§{YV V§ÌkmZ
9) eoVr, nrHo$, ’$bmoËnmXZ, nwînmoËnmXZ V§ÌkmZ
10) ObqgMZ Am{U Obì¶dñWmnZ V§ÌkmZ
11) newYZ, Hw$ w̧$Q>nmbZ V§ÌkmZ
12) dZrH$aU, ‘Ëñ¶ì¶dgm¶
13) AmnÎmr ì¶dñWmnZ
14) Z°ZmoQ>oŠZm°bm°Or

1) D$Om© V§ÌkmZ
1) D$Om© H$m`Xm 2003 Zwgma, gd© ì`mdgm{`H$, Am¡Úmo{JH$ Am{U g§ñWmË‘H$ B‘maVt‘Ü ò D$Om© boImnarjU Ho$bo nm{hOo

Á`m‘Ü ò nojm OmñV ^ma OmoS>bm Jobm Amho.
1) 100 kW 2) 50 kW 3) 500 kW 4) 1000 kW

1) As per the Energy Act 2003, an energy audit should be carried out in all commercial, industrial

and institutional buildings having connected load more than

1) 100kW 2) 50kW 3) 500 kW 4) 1000 kW

2) W‘©b nm°da ñQ>oeZÀ¶m {M‘UrMr H$m ©̀j‘Vm A§XmOo .......... AgVo.
1) 20% 2) 90% 3) 70% 4) 65%

2) The efficiency of chimney at thermal power station is approximately .........

1) 20% 2) 90% 3) 70% 4) 65%

3) ^maVmV gdm©{YH$ D$Om© dmnaUmao amÁ` H$moUVo Amho?
1) Am§Y« àXoe 2) JwOamV 3) ‘hmamï´> 4) Vm{‘iZmSy>

3) Which is the State with the highest energy consumption in India ?

1) Andhra Pradesh 2) Gujrat 3) Maharashtra 4) Tamil Nadu

4) gH$b Xoem§VJ©V CËnmXZmÀ`m à{V ẁ{ZQ> D$O}À`m dmnamg ........ Ago åhUVmV.
1) D$Om© JwUmoÎma 2) D$Om© Vrd«Vm 3) XaS>moB© dmna 4) darbn¡H$s H$mhrhr Zmhr

4) Energy consumption per unit of gross domestic product is called as ........

1) Energy ratio 2) Energy intensity

3) Per capita consumption 4) None of the above
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5) dV©‘mZ ‘`m©{XV AUŵ Q²>Q>çm ...... À`m Agmì`mV.
1) Cƒ à{VH$ma Am{U H$‘r àoaH$ A{^{H«$`m 2) H$‘r à{VH$ma Am{U Cƒ àoaH$ A{^{H«$`m
3) H$‘r à{VH$ma Am{U H$‘r à{V{H«$`m 4) Cƒ à{VH$ma Am{U Cƒ à{V{H«$`m

5) Current limiting reactors should be of ......

1) High resistance and low inductive reactance

2) Low resistance and high inductive reactance

3) Low resistance and low reactance

4) High resistance and high reactance

6) {dÚwVjoÌ ‘w³V Ho$ë¶m‘wio drO J«mhH$m§Zm ‘moR>çm à‘mUmV ........ IaoXr H$aVm òVo.
1) Iwë`m ~mOmamVyZ ñdñV drO 2) amÁ` drO ‘§S>imMr drO
3) {S>ñH$m°‘H$Sy>Z drO 4) Q´mÝg{‘eZ H§$nZrH$Sy>Z drO

6) Open access allows the bulk power consumers to buy ...

1) Cheaper power from open market 2) Power from the state electricity board

3) Power from DISCOM 4) Power from transmission company

7) nmÊ¶mMm ‘moR>m àdmh d Aé§X dmQ>, Aem ñdénmÀ¶m hm`S´moßbm§Q>‘Ü ò Imbrb hm`S´moQ>~m©BZMm dmna Ho$bm OmVmo .........
1) H°$ßbmZ Q>~m©BZ 2) ’«$mpÝgg Q>~m©BZ 3) B§nëg Q>~m©BZ 4) ao{S>`b âbmo Q>~m©BZ

7) For low head with large quantity of flow water, following hydro turbine is used in hydro plant..........

1) Kaplan turbine 2) Fransis turbine 3) Impulse turbine 4) Radial flow turbine

8) BboŠQ´mo ñQ>°{Q>H$ àr{g{nQ>oQ>a (ESP) ho W‘©b nm°da ñQ>oeZ‘Ü ò ...... gmR>r dmnabo OmVo.
1) dm ỳ àXyfU H$‘r H$am 2) H$moigm Ja‘ H$am
3) nmUr Ja‘ H$am 4) AmJ bmJÊ`mMr eŠ`Vm H$‘r H$am

8) Electro Static Precipitator (ESP) is used in thermal power station to

1) Reduce the air pollution 2) Heat the coal

3) Heat the water 4) Reduce the possibility of fire

9) gr‘m§V AmCQ>oO IM© ........ er g§~§{YV Amho.
1) drO 2) D$Om© 3) Am{W©H$ VmoQ>m 4) Mmby IM©

9) Marginal outage cost is related to ........

1) Power 2) Energy 3) Economic loss 4) Running cost

10) ßbm§Q>‘Yrb ẁ{ZQ²g‘Yrb ^mamÀ`m {H$’$m`Vera {d^mJUrgmR>r, hm {ZH$f Amho ...
1) gd© ẁ{ZQ²g g‘mZ dmT>rd B§YZ IMm©da MmbUo Amdûm`H$ Amho
2) gd© ẁ{ZQ²gZo H$‘rV H$‘r dmT>rd B§YZ IMm©da H$m‘ Ho$bo nm{hOo
3) H$‘rV H$‘r 50% ẁ{ZQ²g g‘mZ dmT>rd B§YZ IMm©da MmbUo Amdí`H$ Amho
4) {H$‘mZ 50% ẁ{ZQ²g H$‘rV H$‘r dmT>rd B§YZ IMm©da MmbUo Amdí`H$ Amho

10) For economical division of load between units within a plant, the criterion is ...

1) All units must operate at the same incremental fue] cost

2) All units must operate at the lowest incremental fuel cost

3) At least 50% units must operate at the same incremental fuel cost

4) At least 50% units must operate at the lowest incremental fuel cost



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` {dkmZ / 58

For Private Circulation Only

11) ........... ho OZaoqQ>J ñQ>oeZ Am{U bmoS> g|Q>a Xaå`mZÀ`m ‘Ü`dVu q~Xy§‘Ü ò pñWV AmhoV.
1) g~ñQ>oeZ {Z‘m©U H$aUo 2) {J«S> g~ñQ>oeZ
3) Xwæ`‘ g~ñQ>oeZ 4) {dVaU g~ñQ>oeZ

11) ............ are located in the intermediate points between the generating station and load centres.

1) Generating substations 2) Grid substations

3) Secondary substations 4) Distribution substations

12) nmaofU àUmbrÀ`m ZwH$gmZ^anmB©Mo ‘w»` C{Ôï> ho Amho ..........
1) nm°da Q´mÝg{‘eZÀ`m gd© ñVam§da âb°Q> ìhmoëQ>oO àmo’$mBb àXmZ H$aUo
2) àUmbrMr pñWaVm gwYmaÊ`mgmR>r
3) àUmbrÀ`m [aE°pŠQ>ìh nm°daÀ`m JaOogmR>r {H$’$m`Vera ‘mJm©Zo nyV©Vm H$aUo
4) darb gd©

12) The main objective of compensation of the transmission system are

1) To provide flat voltage profile at all level of power transmission

2) To improve the stability of the system

3) To meet the economical way for reactive power requirement of the system

4) Allof the above

13) J«mhH$m§Zm .......... bmoS> ’°ŠQ>ada drO dmnaÊ`mg àmoËgm{hV Ho$bo OmVo.
1) Cƒ 2) {ZåZ 3) 1 4) eyÝ`

13) The consumers are encouraged to use electricity at ............ load factor.

1) high 2) low 3) 1 4) zero

14) bmoS> ’°ŠQ>a =

1)           gamgar ^ma           . 2) gamgar ^ma x H$‘mb ‘mJUr
     OmñVrV OmñV ‘mJUr

3)    OmñVrV OmñV ‘mJUr     . 4)   OmñVrV OmñV ‘mJUr  ..
         gamgar bmoS>          H$ama ‘mJUr

14) Load factor =

1)
         Average load       .

2) Average load x Maximum Demand
       Maximum Demand

3)
      Maximum Demand    .

4)
      Maximum Demand     .

        Average load            Contract Demand

15) hm`S´mo OZaoQ>aÀ`m ~m~VrV S´m`pìh§J Q>m°H©$ {Z §̀{ÌV H$ê$Z ~XbVm òVmo.
1) JoQ> AmonqZJ 2) W«m°Q>b AmonqZJ 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr

15) In case of hydro generators the driving torque can be changed by controlling the

1) Gate opening 2) Throttle opening 3) Both (1) and (2) 4) None of the above
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16) H$m±àoga‘Yrb {d{eï> CO}Mr Amdûm`H$Vm ........... Aer ì`m»`m Ho$br OmVo.
1) {dV[aV ìhm°ë ỳ‘er kW EH$H$m‘Yrb drO dmnamMo JwUmoÎma
2) AmCQ>nwQ> nm°da Am{U {dV[aV ìhm°ë ỳ‘Mo JwUmoÎma
3) drO dmnamgmR>r {dV[aV Ho$boë`m AmH$ma‘mZmMo JwUmoÎma
4) darbn¡H$s H$mhrhr Zmhr

16) Specific power requirement in compressor is defined as ...........

1) The ratio of power consumption in kW to the volume delivered

2) Ratio of output power to volume delivered

3) Ratio of volume delivered to power consumption

4) None of the above

17) Q>~m©BZ‘YyZ nmUr dmhÿZ OmÊ¶mMm doJ (runaway speed ) åhUOo ..........
1) ‘erZMm OmñVrV OmñV doJ H$moUË`mhr ^mamImbr ZgVmo na§Vw Jìh{ZªJgh
2) ^ma Am{U {Z §̀ÌU Zgboë`m ‘erZMm H$‘mb doJ
3) nyU© bmoS> A§VJ©V ‘erZMr H$‘mb JVr
4) JìhZ©a {S>ñH$ZoŠQ> Pmë`mda ‘erZÛmao àmá hmoUmar JVr

17) The runaway speed of a turbine is ..........

1) The maximum speed of the machine under no load but with governing

2) The maximum speed of the machine under no load and no governing

3) The maximum speed of the machine under full load

4) The speed achieved by the machine when the governor is disconnected

18) n§n-ñQ>moaoO ßbm§Q²g....
1) OmñVrV OmñV ‘mJUr nyU© H$aÊ`mgmR>r nmUr n§n H$aÊ`mgmR>r Am{U Ob{dÚwV {Z‘m©U H$aÊ`mgmR>r Am¡pîUH$ CO}Mm

dmna H$aVmV.
2) W‘©b nm°dabm nrH$ bmoS> KoÊ`mg nadmZJr Úm Va hm`S´monm°da ~og bmoS> KoD$ eH$VmV.
3) H$‘r ‘yë`mÀ`m "Am°’$ nrH$' D$O}Mo Cƒ ‘yë` "Am°Z nrH$' j‘Vm Am{U D$O}V ê$nm§Va H$aVmV.
4) H$‘r ‘yë`mÀ`m W‘©b nm°daMo Cƒ ‘yë`mÀ`m Ob{dÚwV‘Ü ò ê$nm§Va H$aVmV.

18) Pumped-storage plants ....

1) Use thermal energy to pump water and generate hydropower to meet peak demand

2) Allow thermal power to take up peak load while the hydropower can take up the base load

3) Convert low value ‘off peak’ energy into high value ‘on peak’ capacity and energy

4) Convert low value thermal power into high value hydropower

19) Imbrb {Xboë¶m {dYmZm§n¡H$s, H$moUVr {dYmZo gm¡a D$O}gmR>r Iar AmhoV ?
a) à^mdrnUo H$m~rO Ho$ë¶mg, gm¡a D$Om© ^maVmVrb EHy$U drO Amdí¶H$VoMr n[anyU©Vm H$ê$ eH$Vo.
b) gm¡a D$Om© ñd¶§nmH$ AZwà¶moJmgmR>r Cn¶wº$ Zmhr.
c) gm¡a D$Om© àH$me AZwà¶moJmgmR>r Cn¶wº$ Amho.
d) gm¡a D$Om© n¶m©daU AZwHy$b Amho.
n¶m©¶r CÎmao …
1) (a), (c) Am{U (d) 2) (a), (b) Am{U (c)

3) (a), (b) Am{U (d) 4) (b), (c) Am{U (d)
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19) Which among the following statements are true for solar energy ?

a) Solar energy can meet the entire India's power requirement if captured effectively.

b) Solar energy is not useful for cooking applications.

c) Solar energy is useful for lighting applications.

d) Solar energy is environment friendly.

Answer Options :

1) (a), (c) and (d) 3) (a), (b) and (d) 2) (a), (b) and (c) 4) (b), (c) and (d)

20) ^maV gaH$ma Ûmam ñWm{nV, ............ ¶m§Zr "D$Om© Vmam§H$Z ‘mZH$' {dH${gV Ho$bo Amho.
1) Xr ã ỳamo Am°’$ EZOu E’$s{eAÝgr 2) Xr ã ỳamo Am°’$ ñQ>ma EZOu àmoOo³Q>
3) Xr ã ỳamo Am°’$ {S>pñQ´ã ỳeZ A°ÝS> OZab àmoJ«°‘ 4) Xr ã ỳamo Am°’$ H$m°‘Z àm°nQ>u [agmog© àmoOo³Q>

20) Established by the Government of India, .................. has developed ‘Energy Star Label’.

1) The Bureau of Energy Efficiency

2) The Bureau of Star Energy Project

3) The Bureau of Distribution and General Programme

4) The Bureau of Common Property Resource Project

21) Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV ? (ZdrZ CËnmXZ YmoaUm§VJ©V h[aV V§ÌkmZmMm Cn¶moJ H$aVmZm)
a) eyÝ¶ nmUr ~mhoa gmoS>Umè¶m ¶w{ZQ²>gbm 10% ^m§S>dbr AZwXmZ.
b) eyÝ¶ nmUr ~mhoa gmoS>Umè¶m ¶w{ZQ²>gbm 10% EH$XmM ^m§S>dbr AZwXmZ.
c) gm§S>nmUr nwZdm©na gw{dYm C^maUrgmR>r nmUr CnH$mam§da 25% gdbV.
d) gm§S>nmUr nwZdm©na ¶§ÌUm C^maë¶mg nmUr CnH$am‘Ü¶o 10% gdbV.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (c) ~amo~a AmhoV 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZo (b) Am{U (c) ~amo~a AmhoV 4) {dYmZ (d) ~amo~a Amho.

21) Which of the following statements are true ? (while practising Green technology under new

manufacturing policy.)

a) A 10% capital subsidy for units practising zero water discharge.

b) A 10% one-time capital subsidy for units practising zero water discharge.

c) A 25% rebate on water cess for setting up waste water recycling facilities.

d) A 10% rebate on water cess for setting up waste water recycling facilities.

Answer Options :

1) Statements (a) and (c) are correct 2) Statement (b) is correct

3) Statements (b) and (c) are correct 4) Statement (d) is correct

2) dmhZ V§ÌkmZ d dmhVyH$
1) "amoS> H$ëìhQ>©' À`m ~m~VrV, aofr` Ob‘mJ© .......... bm§~rn ª̀V ‘`m©{XV AgVmo.

1) 18 ‘rQ>a 2) 12 ‘rQ>a 3) 45 ‘rQ>a 4) 20 ‘rQ>a
2) In case of ‘road culvert’, the linear waterway is limited to the length of .........

1) 18 meter  2) 12 meter 3) 45 meter 4) 20 meter
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3) ‘hmamï´> Bbop³Q´>H$ dmhZ YmoaU 2021 À¶m ‘w»¶ C{Ôï>mÝd¶o gZ 2025 n¶ªV ZdrZ dmhZ Zm|XUrV ...... {hñgm ~°Q>ar,
Bbop³Q´>H$ dmhZm§Mm Agob.
1) 15 Q> o̧$ 2) 10 Q> o̧$ 3) 5 Q> o̧$ 4) 20 Q> o̧$

3) According to the main objective of the Maharashtra Electric Vehicle Policy 2021, by the year

2025 new vehicle registrations will have ... share of battery, electric vehicles.

1) 15 percent 2) 10 percent 3) 5 percent 4) 20 percent

4) amï´>r` Am{U amÁ` ‘hm‘mJm©darb MoVmdUr {MÝho hr g§~§{YV dñVyÀ`m AJmoXa ....... A§Vamda AgVmV.
1) 40 ‘rQ>a 2) 60 ‘rQ>a 3) 80 ‘rQ>a 4) 120 ‘rQ>a

4) The warning signs on National and State Highways are to be located in advance of object at a

distance of ............

1) 40 meter 2) 60 meter 3) 80 meter 4) 120 meter

5) Imbrb dU©Zmda AmYm[aV B§{OZMm àH$ma AmoiIm :
A) B§OoŠQ>a Am{U B§YZ n§n ho `m B§{OZMo öX` AmhoV.
~) `m B§{OZMo H$m°åàoeZ aoemo 14 : 1 Vo 22 : 1 Amho.
H$) `m B§{OZMm B§YZ dmna 160 Vo 200 g/bhp Vmg Amho.
S>) `m B§{OZMr W‘©b H$m ©̀j‘Vm 32 Vo 38 Q> o̧$ Xaå`mZ ~XbVo.
n¶m©¶r CÎmao :
1) dm’o$Mo B§{OZ 2) J°g B§{OZ 3) noQ´mob B§{OZ 4) {S>Pob B§{OZ

5) Identify the type of Engine based on the following description :

a) The injector and fuel pump are the heart of this engine.

b) The compression ratio of this engirie is 14 : 1 to 22: 1.

c) The fuel consumption of this engine is 160 to 200 g/bhp/hr.

d) Thermal efficiency of this engine varies between 32 to 38 percent.

Answer options :

1) Steam engine 2) Gas engine 3) Petrol engine 4) Diesel engine

6) B§{S>`Z amoS> H$m±J«ogZo j¡{VO g§aoIZmVrb H$moUË`m àH$maÀ`m g§H«$‘U dH«$mMr {e’$mag Ho$br Amho?
1) dVw©imH$ma 2) bo{‘{ZñHo$Q> 3) g{n©b 4) KZ n°am~mobm

6) Which type of transition curve in horizontal alignment is recommended by Indian Road Congress?

1) Circular 2) Leminiscate 3) Spiral 4) Cubic parabola

7) amoS> {g¾qbJ‘Ü ò ‘STOP’ {MÝh Imbrb AmH$mamMo AgVo ......
1) dVw©imH$ma 2) Aï>H$moZr 3) {ÌH$moUr 4) Mm¡ag

7) ‘STOP’ sign in road signalling has following shape ........

1) Circular 2) Octagonal 3) Triangular 4) Square

8) àmB‘ ‘yìha åhUyZ {S>Pob B§{OZ‘Ü ò ........... Amho.
1) Cƒ àma§{^H$ IM© 2) H$‘r Am°naoqQ>J IM© 3) Mm§Jbm Q>m°H©$ 4) darb gd©

8) Diesel engine as prime mover has ..........

1) High initial cost 2) Low operating cost

3) Good torque 4) Allof the above
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9) j¡{VO diUmdarb ‘hm‘mJmª‘Ü ò A{V[aº$ é§XrH$aU ........... ¶mgmR>r Ho$bo OmVo.
1) MmH$m§Mm ‘mJmodm KoÊ`mgmR>r OmJm CnbãY H$ê$Z XoUo 2) Mm§Jbr Ñï>r
3) añVm Xŵ mOH$ àXmZ H$aUo 4) H$m ©̀j‘ ŚoZoO

9) Extra widening in highways on Horizontal curves is provided for ...........

1) Providing space for off tracking of wheels 2) Better vision

3) Providing road dividers 4) Efficient drainage

10) añVo{dH$mg H$m¶©H«$‘m~m~V AMyH$ OmoS>çm Owidm :
a) NHDP 1) Jmd añVo {dH$mg
b) CRRI 2) ‘hm‘mJ© g§emoYZ ‘§S>i
c) PMGSY 3) gwdU© MVŵ w©O
d) IRC 4) amï´>r` à`moJemim
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) 4 2 1 3

2) 2 3 1 4

3) 2 4 1 3

4) 3 4 1 2

10) Match the pair :

a) NHDP 1) Village Road Development

b) CRRI 2) Highway Research Board

c) PMGSY 3) Golden Quadrilateral

d) IRC 4) National Laboratory

Answer Options:

(a) (b) (c) (d)

1) 4 2 1 3

2) 2 3  1 4

3) 2 4 1 3

4) 3 4 1 2

11) ñd¶§MbrV H$ma/MmbH$ {da{hV H$ma BV³¶mV ~mVå¶m‘Ü¶o hmoVr. Ë¶m~m~V Imbrbn¡H$s H$m¶ Iao Zmhr?
1) ¶wZm¶Q>oS> qH$JS>‘ hm H$‘r doJmZo ñd¶§MbrV dmhZm§À¶m dmnamgmR>r {Z¶‘Z Om{ha H$aUmam n{hbm Xoe R>abm Amho.
2) ñd¶§MbrV V§ÌkmZ ¶w~oa, {ZgmZ, Q>oñbm ¶m H§$nÝ¶m§Zr {dH${gV Ho$br Amho.
3) ñd¶§MbrV H$maZo g^modVmbMm ZH$mem V¶ma H$aÊ¶mgmR>r boPa, goÝga d aS>maMm Cn¶moJ Ho$bm Amho.
4) ¶wHo$Mm A§XmO Amho H$s gw‘mao 60% ¶wHo$ H$ma‘Ü¶o 2035 n¶ªV ñd¶§MbrV H$maMr j‘Vm Agob.

11) Self-Driving car/Driverless cars were recently in news, Which of the following is not true about

it ?

1) United Kingdom has become the first country to announce regulation for the use of self-

driving vehicles at low speeds.

2) Self-driving technologies have been developed by Uber, Nissan, Tesla companies.

3) Self-driving car use lasers, sensors and radars to map their surroundings.

4) UK forecasts that around 60% of UK cars will have seif-driving capabilities by 2035
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3) J¥h{Z‘m©U d ~m§YH$m‘ V§ÌkmZ
1) Mm§Jë`m {Zdmgr ImobrgmR>r bm§~r Vo é§XrMo à‘mU {H$Vr Agmdo?

1) 1 Vo 1.1 2) 2.1 Vo 2.2 3) 1.2 Vo 1.5 4) 1.60 Vo 2.00
1) What shall be the range of length to breadth proportion for a good room ?

1) 1 to 1.1 2) 2.1 to 2.2 3) 1.2 to 1.5 4) 1.60 to 2.00

2) H$m±H«$sQ> Agmo{gEeZ Am°’$ B§{S>`mÀ¶m {e’$magrZwgma nmoH$i H$m±H«$sQ> ãbm°ŠgMr Xe©Zr OmS>r ....... nojm OmñV Zgmdr.
1) 4 go‘r 2) 2 go‘r 3) 5 go‘r 4) 10 go‘r

2) As recommended by concrete association of India the face thickness of hollow concrete blocks

should not be more than .........

1) 4 cm 2) 2 cm 3) 5 cm 4) 10 cm

3) nmoQ>‘mim n§»`mMr j‘Vm EdT>r Agmdr H$s, Vo Xa Vmgmbm ............ hdm ~XbVo.
1) 30 2) 100 3) 10 4) 50 Vo 60

3) Attic fan capacity should be such that, it should provide ............ air changes per hour.

1) 30 2) 100 3) 10 4) 50 to 60

4) ao{’«$OaoeZ gm`H$b‘Ü ò ao{’«$Oa§Q>Mm àdmh ........ Ûmao {Z §̀{ÌV Ho$bm OmVmo.
1) H§$àoga 2) {dñVma PS>n 3) H§$S>oÝga 4) ~mînr^dH$

4) In a refrigeration cycle, the flow of refrigerant is controlled by ........

1) Compressor 2) Expansion valve 3) Condenser 4) Evaporator

5) {bâQ>Mo à‘wI Vm§{ÌH$ ‘mnX§S> ........ AmhoV.
1) aoQ>oS> bmoS> Am{U aoQ>oS> ñnrS> 2) aoQ>oS> ñnrS> Am{U H§$Q´mob {gñQ>‘
3) aoQ>oS> bmoS> Am{U H§$Q´mob {gñQ>‘ 4) H$maMo n[a‘mU Am{U aoQ>oS> bmoS>

5) Principal technical parameters of elevators are .........

1) Rated load and rated speed 2) Rated speed and control system

3) Rated load and control system 4) Dimensions of car and rated load

6) ßb§q~J Am{U SóZoO {gñQ>r‘‘Ü ò `mo½` gmnio bmdÊ`mMm ‘w»` CÔoe H$m` Amho?
1) {~pëS§>J‘Ü ò Iam~ dm ỳ amoIUo 2) gopßQ>H$ Q>mH$s‘Ü ò Iam~ dm ỳ amoIUo
3) nmB©n‘YyZ JiVr amoIUo 4) darbn¡H$s H$mhrhr Zmhr

6) What is the main purpose of providing appropriate traps in plumbing and drainage system ?

1) Preventing foul gases into the building 2) Preventing foul gases into the septic tank

3) Preventing leakages from pipes 4) None of the above

7) ‘w»` Ob{dVaU àUmbrVyZ Ka/J«mhH$m§er Or {d{eï> godm OmoS>Ur H$aVmV, {Vbm ......... åhUVmV.
1) gpìh©g nmB©n 2) h§g ZoH$ H$ZoŠeZ 3) ’o$ê$b 4) ‘oZ bmBZ

7) A typical service connection to a house/consumer from the main distribution system is called

as.......

1) Service pipe 2) Goose neck connection

3) Ferrule 4) Mains line
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8) dfm©Mm ~hþVm§e ^mJ H$moaS>m amhUmè`m AmoT>çmda ~m§Yboë`m nwbmbm ...... Ago åhUVmV.
1) Abutment 2) Pier 3) Culvert 4) darbn¡H$s H$mhrhr Zmhr

8) A bridge constructed over a stream which remains dry for most part of the year is called as ......

1) Abutment 2) Pier 3) Culvert 4) None of the above

4) nmUr nwadR>m d g’$mB© V§ÌkmZ

5) XiUdiU (nmoñQ> d Q>o{bJ«m’$, Xÿag§Mma), ao{S>Amo, Xÿa{MÌdmUr

6) JwÝhm AÝdofU V§ÌkmZ
1) Imbrbn¡H$s H$moUmbm VÁk gmjrXma åhUVmV ?

1) d¡ÚH$sg A{YH$mar 2) amgm¶{ZH$ {díbofH$ 3) A{¾eómVrb VÁk 4) darbn¡H$s gd©
1) Who can be considered as an Expert Witness ?

1) Medical Officer 2) Chemical Examiner 3) Firearm Expert 4) All of the above

2) ‘hmamï´> àmo{h{~eZ H$m¶Úmà‘mUo "JmdR>r Xmê$' ¶m eãXmÀ¶m ì¶m»¶oV qH$dm AWm©V nwT>rbn¡H$s H$emMm g‘mdoe hmoV
Zmhr?
1) nadmÝ¶m{edm¶ ^maVmVrb IoS>oJmdmV ~Zdbobr Xmê$.
2) nadmZm AgVmZm ^maVmVrb IoS>oJmdmV ~Zdbobr Xmê$
3) ^maVmVrb ‘moR>çm eham§‘Ü¶o nadmZm KoD$Z H$maImÝ¶m§‘Ü¶o ~Zdbobr Xmê$.
4) darb gd© gm‘m{dï>

2) According to the provisions of the Maharashtra Prohibition Act, what is not included within the

meaning and definition of ‘Country Liquor’ ?

1) Liquor produced in Indian villages without licence.

2) Liquor produced in Indian villages with licence.

3) Liquor produced in big cities of India in factories with licence.

4) All are included

3) EImÚm g§ñWoÀ¶m dVrZo 'Jm§Om' Agboë¶m Am¡fY {dH«$sgmR>r Amdí¶H$ Agboë¶m nadmÝ¶mgmR>r ‘hmamï´> ZmaH$mo{Q>H$
S´>½g Am{U gm¶H$moQ´>m°{nH$ nXmW© {Z¶‘, 1985 A§VJ©V Imbrb ’$m°‘© ...... ‘Ü¶o nadmZm àmá H$aVm ¶oB©b.
1) B-III 2) B-V 3) B-II 4) B-IV

3) Licence for the possession of ‘Ganja’ required by a person on behalf of any institution for sale of

Medicine containing ‘Ganja’ is granted in Form under the Maharashtra Narcotics Drugs and

Psychotropic Substances Rules, 1985.

1) B-III 2) B-V 3) B-II 4) B-IV

4) A§‘br nXmW© Am¡fYr Am{U gm¶H$moQ´>m°{nH$ nXmW© A{Y{Z¶‘, 1985 H$b‘ 6 AÝd¶o H|$ÐgaH$ma Imbrbn¡H$s H$moUVr
g{‘Vr ñWmnZ H$aVo?
1) g„mJma g{‘Vr 2) ñWm¶r g{‘Vr 3) {Z{‘©Vr g{‘Vr 4) àJVr g{‘Vr
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4) Which of the following committee can be constituted by the Central Government under Section

6 of the Narcotics Drugs and Psychotropic Substances Act, 1985 ?

1) Consultative Committee 2) Standing Committee

3) Formation Committee 4) Progression Committee

5) A’y$Mo CËnmXZ d {Z{‘©Vr Am{U A’y$À¶m ~m|S>mÀ¶m CËnmXZ d {Z{‘©Vr H$aÊ¶mg nadmZJr XoÊ¶mMo A{YH$ma H$moUmMo
AmhoV?
1) amÁ¶ gaH$ma 2) H|$Ð gaH$ma 3) H|$Ðem{gV àXoe 4) ¶mn¡H$s Zmhr

5) Who is empowered to give permission for production and manufacture of opium and production

of poppy straw ?

1) State Government 2) Central Government

3) Union Territory 4) None of the above

7) Amamo½¶ d AÞ joÌmer g§~§{YV V§ÌkmZ

8) {ejU, H$m¡eë¶ d ‘Zwî¶~i {dH$mg joÌmer g§~§{YV V§ÌkmZ

9) eoVr, nrHo$, ’$bmoËnmXZ, nwînmoËnmXZ V§ÌkmZ

10) ObqgMZ Am{U Obì¶dñWmnZ V§ÌkmZ
1) ‘w»¶‘§Ìr gm¡a H¥$fr n§n ¶moOZ|VJ©V nwT>rb 3 dfmªÀ¶m H$mbmdYrV ...... gm¡a H¥$fr n§n AmñWm{nV H$aÊ¶mMo C{Ôï> {ZpíMV

H$aÊ¶mV Ambo Amho.
1) 3 bmI 2) 1 bmI 3) 2 bmI 4) 4 bmI

1) Under the Chief Minister Solar Agriculture Pump Scheme, a target has been set to install ......

Solar Agriculture Pumps within the next 3 years.

1) 3 lakh 2) 1 lakh 3) 2 lakh 4) 4 lakh

2) Imbrb Owidm :
JQ> "A'                 JQ> "~'

a) ao{gàmoHo$qQ>J n§n I) Ooìhm nya òÊ`mMm YmoH$m Agy eH$Vmo
b) amoQ>ar n§n II) àmBq‘J Amdûm`H$ Amho
c) g|Q́râ ỳJb n§n III) d§JU/ñZohZ Vob n§n H$aÊ`mgmR>r
d) g~‘{g©~b n§n IV) ßb§Ja/{nñQ>Z {dñWmnZ
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) II III IV I

2) IV I II ll

3) IV III II I

4) II I IV III
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2) Match the following :

 Group ‘A’ Group ‘B’

a) Reciprocating pump I, When flooding may be a hazard

b) Rotary pump I. Requires priming

c) Centrifugal pump III. For pumping lubricating oils

d) Submersible pump IV. Plunger/Piston displacement

Answer options :

a b c d

1) II III IV I

2) IV I II ll

3) IV III II I

4) II I IV III

11) newYZ, Hw$ w̧$Q>nmbZ V§ÌkmZ

12) dZrH$aU, ‘Ëñ¶ì¶dgm¶

13) AmnÎmr ì¶dñWmnZ

14) Z°ZmoQ>oŠZm°bm°Or
1) .............. (h°bm°B©gmBQ>) ho H$sQ>H$ZmeH$m§Mo dmhH$ åhUyZ {dH${gV Ho$bo Jobo AgyZ, Ë¶m‘wio H$‘r {H$‘VrV XrK© H$mi

H$sQ>H$ZmeHo$ gmoS>Ê`mgmR>r Am{U dZñnVter Ë¶m§Mm Mm§Jbm g§nH©$ Pmë¶mZo H$sQ>H$ZmeH$m§Mo à‘mU 70 - 80 Q> ²̧$`m§Zr
H$‘r hmoD$ eH$Vo.
1) Šbo Z°ZmoQ>çyãg 2) Z°Zmo ‘oå~«oÝg 3) {PAmobmBQ²g 4) Z°Zmo H$moqQ>½O

1) .............. (halloysite) have been developed as carriers of pesticides at low cost for extended release

and better contact with plants and they will reduce the amount of pesticides by 70 — 80 percent.

1) Clay nanotubes 2) Nano membranes 3) Zeolites 4) Nano coatings

2) OgOgo AmnU Jmoï>r H$‘r H$aVmo (scale things down) VgVgo Ë¶m AË §̀V ZdrZ JwUY‘© KoD$ bmJVmV, ho
............Mo gma Amho.
1) Z°ZmoQ>oŠZm°bm°Or 2) emídV eoVr 3) AMyH$ eoVr 4) hdm‘mZ

2) The essence of ......... is that as we scale things down, they start to take an extremely novel properties.

1) nanotechnology 2) sustainable agriculture

3) precision farming 4) climate

3) Z°ZmoQ>oŠZm°bm°Or ...... ‘Ü ò dmnabr OmVo.
A) ‘emJV Am{U {~`mUo {dkmZ ~) nmUr dmna Am{U VU ì`dñWmnZ
H$) IVo Am{U dZñnVr g§ajU S>) Amamo½` {ZarjU Am{U Am¡fY {dVaU àUmbr
darbn¡H$s H$moUVo n`m©̀  `mo½` AmhoV/AmhoV?
1) A ’$º$ 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>
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4) Nanotechnology is used in ......

a) Tillage and Seed science b) Water use and Weed Management

c) Fertilizers and Plant Protection d) Health monitoring and Drug delivery system

Which of the options given above is/are correct ?

1) a only 2) b only 3) a, b and c only 4) a, b, c and d
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(20) ‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r

1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.

1) g§JUH$ V§ÌkmZ
1) Imbrbn¡H$s H$moUË¶m g§ñWo‘Ü¶o "na‘ AZ§V' ¶m ‘hmg§JUH$mMo AZmdaU H$aÊ¶mV Ambo ?

1) Am¶Am¶Q>r ‘Ðmg 2) EZAm¶Q>r {Vé{Mamn„r 3) Am¶Am¶Q>r JwdmhmQ>r 4) Am¶Am¶Q>r Jm§YrZJa
1) Which institution recently unveiled 'Param Ananta' super computer ?

1) IIT Madras 2) NIT Tiruchirappalli 3) IIT Guwahati 4) IIT Gandhinagar

2) ‘erZ b{ZªJ ‘m°S>ob Or Amoìha’$sQ> (overfit) AgVmV, Ë¶m ‘Ü¶o .............. Bias AgVmo Am{U Or A§S>a’$sQ>
(underfit) AgVmV, Ë¶m ‘Ü¶o ........... ìhoar¶§g (variance) AgVmo.
1) OmñV, OmñV 2) OmñV, H$‘r 3) H$‘r, OmñV 4) H$‘r, H$‘r

2) Machine Learning Models, which overfit have ...... bias and underfit have ...... variance.

1) high, high 2) high, low 3) low, high 4) low, low

3) S>oQ>m~og ì`dñWmnZ àUmbr (DBMS) hr, ^m¡Jmo{bH$ ‘m{hVr àUmbr ( (GIS) Mm ............. KQ>H$ Amho.
1) hmS>©doAa 2) gm°âQ>doAa 3) S>oQ>m 4) {OAmoS>ogr

3) A Database Management System (DBMS) is a ............. component of Geographical Information

System (GIS).

1) hardware 2) software 3) data 4) geodesy

4) Imbrbn¡H$s H$moUVm A{g‘rQ´rH$ EZH«$sßeZ AbJmoarW‘ Amho ?
1) ãbmo {’$e (Blow fish)2) Qy> {’$e (Two fish) 3) Ama.Eg.E. (RSA) 4) darbn¡H$s EH$hr Zmhr

4) Which of the following is an asymmetric encryption algorithm ?

1) Blow fish 2) Two fish 3) RSA 4) None of the above

5) Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) A°Zmbm°J g{H©$Q> bhmZ {g¾bgh dmnaÊ`mgmR>r {S>PmBZ Ho$bobo AmhoV.
b) {S>{OQ>b g{H©$Q²g gm‘mÝ`V… ‘moR>çm {g¾bgh dmnabo OmVmV.
c) EZmbm°J g{H©$Q²g Zm°Z-{b{Z`a ’°eZ‘Ü ò H$m‘ H$aÊ`mgmR>r ~Zdbo OmVmV.
d) {S>{OQ>b g{H©$Q²g aoIr` EH$ ‘mZbo OmVmV.
n¶m©¶r CÎmao …
1) a Am{U b gË` AmhoV 2) b Am{U c gË` AmhoV
3) a Am{U b gË` AmhoV 4) d Am{U a gË` AmhoV
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5). Which of the following statements are true ?

a) Analog circuits are designed for use with small signals.

b) Digital circuits are generally used with large signals.

c) Analog circuits made to work in non linear fashion.

d) Digital circuits are considered as linear one.

Answer options :

1) a and b are true 2) b and c are true 3) c and d are true 4) d and a are true

2) H$å¶w{ZHo$eZ V§ÌkmZ
1) ^maVmV 3G ‘mo~mB©b ’$moZ godm H$Yr nmgyZ gwê$ H$aÊ¶mV Ambr ?

1) 4 OmZodmar, 2006 2) 9 ‘o, 2010
3) 10 gßQ>|~a, 1988 4) 20 OmZodmar, 2015

1) When was the 3G mobile phone service launched in India ?

1) 4th January, 2006 2) 9th May, 2010

3) 10th September, 1988 4) 20th January, 2015

2) ...... Xaå¶mZÀ¶m g‘wÐmImbrb 2313 {H$‘rÀ¶m Am°pßQ>H$ ’$m¶~a AmYm[aV Xÿag§Mma g§b¾Vm Xþì¶mMo CX²KmQ>Z Am°JñQ>
2020 ‘Ü¶o H$aÊ¶mV Ambo.
1) H$moMr Am{U bjÛrn ~oQ>o 2) MoÞB© Am{U A§X‘mZ Am{U {ZH$mo~ma ~oQ>o
3) MoÞB© Am{U bjÛrn ~oQ>o 4) H$moMr Am{U A§X‘mZ Am{U {ZH$mo~ma ~oQ>o

2) The undersea 2313 km optic fiber-based telecom connectivity between ...... was inaugurated in

August 2020.

1) Kochi and Lakshadweep Islands 2) Chennai and Andaman and Nicobar Islands

3) Chennai and Lakshadweep Islands 4) Kochi and Andaman and Nicobar Islands

3) Q>r.gr.nr. (TCP) n°Ho$Q> Mm {H$‘mZ erfm©boI (Minimum Header) AmH$ma (size) .............. ~mBQ²>g Amho.
1) 20 2) 10 3) 60 4) 40

3) The minimum Header size of TCP packet is bytes.

1) 20 2) 10 3) 60 4) 40

4) IPsec XmoZ àmoQ>moH$m°b (protocol) ............. Am{U ........ n[a^mfrV (defines) H$aVo.
1) E.EM. (AH), B©.Eg.nr. (ESP) 2) nr.Or.nr. (PGP), Eg.Eg.Eb. (SSL)

3) nr.Or.nr. (PGP), B©.Eg.nr. (ESP) 4) E.EM. AH), Eg.Eg.Eb. (SSL)

4) IPsec defines two protocols ...... and ......

1) AH, ESP 2) PGP, SSL 3) PGP, ESP 4) AH, SSL

5) 143 nmoQ>© Z§~a, H$moUË¶m àmoQ>moH$m°b er g§~§{YV Amho ?
1) SMTP 2) FTP 3) IMAP 4) POP

5) 143 port number refers to which protocol ?

1) SMTP 2) FTP 3) IMAP 4) POP
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6) B§Q>aZoQ> g§X^m©V dmnaë¶m OmUmè¶m 'HTML' hm g§~moYZmMo nyU© ê$n H$m¶ Amho ?
1) hm¶na Qy>b ‘mH©$An b±½doO (Hyper Tool Markup Language)

2) hm¶~«rS> Q>o³ñQ> ‘oH$s¨J b±½doO (Hyper Text Making Language)

3) hm¶na Q>o³ñQ> ‘mH©$An b±½doO (Hyper Text Markup Language)

4) hm¶~«rS> Q>oñQ> ‘oqH$J b±½doO (Hybrid Test Making Language)

6) What is the long form of the term 'HTML', used in relation to Internet?

1) Hyper Tool Markup Language 2) Hybrid Text Making Language

3) Hyper Text Markup Language 4) Hybrid Test Making Language

7) ............. search hm Mini-Max Search gmaImM AgVmo, nU Vmo Aem emIm (branches) dJiVmo (eliminates)

Á¶m A§{V‘ {ZU©¶mda (final decision) à^md (influence) Q>mH$V ZmhrV.
1) S>oßW ’$ñQ>© gM© (Depth First Search) 2) ~«oS²>W ’$ñQ>© gM© (Breadth First Search)

3) Aë’$m-{~Q>m àwqZJ (Alpha-Beta Pruning) 4) darbn¡H$s EH$hr Zmhr
7) ...... search is equal to Mini-Max Search, but eliminates the branches that cannot influence the

final decision.

1) Depth First Search 2) Breadth First Search

3) Alpha-Beta Pruning 4) None of the above

8) ASCII ¶mMm ’w$b ’$m°‘© H$m¶ Amho ?
1) Am°b ñQ>±S>S>© H°$a³Q>g© ’$m°a BÝ’$m°‘}eZ Am¶S>opÝQ>Q>r 2) A‘o[aH$Z ñQ>°§S>S>© H$moS> ’$m°a BÝ’$m°‘}eZ B§Q>aM|O
3) Am°b qgnb H$moS²>g ’$m°a BÝ’$moQ>oZ‘|Q> B§Q>aoñQ²>g 4) A‘o[aH$Z ñQ>±S>S>© H°$a³Q>g© ’$m°a BÝ’$m°‘}eZ B§Q>aM|O

8) What is the full form of ASCII?

1) All Standard Characters for Information Identity

2) American Standard Code for Information Interchange

3) All Simple Codes for Infotainment Interests

4) American Standard Characters for Information Interchange

3) gm¶~a JwÝho d Ë¶mg à{V~§Y
1) ‘m{hVr V§ÌkmZ A{Y{Z¶‘, 2000 A§VJ©V Ad{eï> X§S> hm ......

1) é. 25,000 nojm OmñV Zmhr 2) é. 50,000 nojm OmñV Zmhr
3) é. 1,00,000 nojm OmñV Zmhr 4) é. 1,00,000 nojm OmñV Amho

1) Residuary penalty provided under the Information Technology Act, 2000 is

1) not exceeding Rs. 25,000 2) not exceeding Rs. 50,000

3) not exceeding Rs. 1,00,000 4) more than Rs. 1,00,000

2) Am¶.Q>r. H$m¶Xm , 2000 Zwgma, JmonZr¶Vm Am{U JmonZr¶VoÀ¶m C„§KZmgmR>r ............ X§S> Amho.
1) H$‘mb Vwé§Jdmg XmoZ df} AWdm H$‘mb X§S> a¸$‘ EH$ bmI én¶o AWdm XmoÝhr
2) H$‘mb Vwé§Jdmg EH$ df© AWdm H$‘mb X§S> a¸$‘ XmoZ bmI én¶o AWdm XmoÝhr
3) H$‘mb Vwé§Jdmg XmoZ df} AWdm H$‘mb X§S> a¸$‘ XmoZ bmI én¶o AWdm XmoÝhr
4) H$‘mb Vwé§Jdmg EH$ df© AWdm H$‘mb X§S> a¸$‘ Mma bmI én¶o AWdm XmoÝhr
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2) According to the IT Act, 2000, penalty for breach of confidentiality and privacy is

1) imprisonment for a term which may extend to two years or with a fine which may extend to

one lakh rupees or both

2) imprisonment for a term which may extend to one year or with a fine which may extend to two

lakhs rupees or both

3) imprisonment for a term which may extend to two years or with a fine which may extend to

two lakhs rupees or both

4) imprisonment for a term which may extend to one year or with a fine which may extend to four

lakhs rupees or both

3) gm¶~a ~wbtJ åhUOo H$m¶ ?
1) ñn°q‘J 2) ñHo$AadoAa 3) B§Q>aZoQ> Ûmao Y‘H$mdUo 4) A±S>doAa

3) What is cyber bullying?

1) Spamming 2) Scareware

3) Threatening through Internet 4) Adware

4) "A' ho nmobrg {ZarjH$ "gm¶~a H«$mB©‘ ~«±M' ‘Ü¶o H$m‘ H$arV AmhoV. Ë¶m§Mo à{ejU H$mbmdYrV Ë¶m§Zr {d{dY gm¶~a
H«$mB‘Mm Aä¶mg Ho$bobm Amho.
Imbrb n¶m©¶ H$miOrnyd©H$ dmMm Am{U gm¶~a H«$mB©‘ Zgbobm n¶m©¶ {ZdS>m.
1) a°Zg‘ doAa 2) BñnrAmoZoO
3) ñnwq’$J 4) gr.S>r.Ama. (H$m°b S>oQ>m aoH$m°S>©)

4) Police Inspector ‘A’ is working in ‘Cyber-Crime Branch’. During his training, he has gone through

different types of Cyber-Crimes.

Read the following options carefully and choose the option which is not a Cyber-Crime.

1) Ransom ware 2) Espionage

3) Spoofing 4) CDR (Call Data Record)

5) ............. ho g~ñQ>oeZ H§$Q´mob {gñQ>r‘Mm Z¡g{J©H$ {dñVma Amho.
1) gm`~a gwajm 2) S>oQ>m gwajm 3) ‘mZdr gwajm 4) `mn¡H$s Zmhr

5) ................. is a natural extension of substation control system.

1) Cyber security 2) Data security 3) Human safety 4) None of these

4) emgZmMo Am¶Q>r H$m¶©H«$‘
1) ^m¡Jmo{bH$ ‘m{hVr àUmbr (GIS) Mm dmna dfm©nmgyZ gwê$ Pmbm

1) 1947 2) 1960 3) 1980 4) 2000
1) Use of Geographic Information System (GIS) began in the year

1) 1947 2) 1960 3) 1980 4) 2000

2) H$moUVr g§ñWm 'SWAYAM' Mr amï´>r¶ g‘Ýd¶H$ Zmhr ?
1) NCTE 2) NCERT 3) CEC 4) NIOS

2) Which organization is not a national coordinator of‘SWAYAM’ ?

1) NCTE 2) NCERT 3) CEC 4) NIOS
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3) ........ ho ^maVmVrb H¥${f ‘mbmÀ¶m CÚmoJmbm OmoS>Umao Am°ZbmB©Z ì¶mgnrR> hmo¶.
1) amï´>r¶ H¥${f ~mOma qH$dm BZm‘ 2) {H$gmZ H«o${S>Q> H$mS>©
3) H¥${f ‘§Ìmb¶ 4) B©-{dnUZ

3)  is an online trading platform for agricultural commodities in India.

1) National Agricultural Market or eNAM 2) Kisan Credit Card

3) Ministry of Agriculture 4) E-Market

4) AmYma ßc°Q>’$m°‘© da {S>{OQ>c ñdmjar (digital signature) godm CnbãY H$ê$Z XoÊ¶mV Ambr Amho. Ë¶mbm H$m¶
åhUVmV ?
1) S>rOrgmB©Z S>oñH$ (DigiSign Desk) 2) B©-gmB©Z S>oñH$ (eSign Desk)

3) Am°ZbmB©Z gmB©Z S>oñH$ (Online Sign Desk) 4) darbn¡H$s EH$hr Zmhr
4) Digital signature service has been launched on Aadhaar Platform. What is it called ?

1) DigiSign Desk 2) eSign Desk 3) Online Sign Desk 4) None of the above

5) Imbrb {dYmZo {dMmamV ¿¶m …
a) ‘m{hVr d Xÿag§Mma V§ÌkmZmÛmao {ejUmMr amï´>r¶ {‘eZ (NMEICT) hr n[aH$pënV Aer H|$Ðr¶ àm¶mo{OV ¶moOZm

Amho.
b) ‘m{hVr d Xÿag§Mma V§ÌkmZmÛmao amï´>r¶ {‘eZ (NMEICT) hr ¶moOZm àmW{‘H$, ‘mÜ¶{‘H$ Am{U Cƒ {ejU

g§ñWm§gmR>r ’$m¶Xoera Amho.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a 2) ’$º$ {dYmZ (b) ~amo~a
3) XmoÝhrhr {dYmZo ~amo~a 4) XmoÝhrhr {dYmZo MwH$sMr

5) Consider the following statements :

a) The National Mission an Education through Information and Communication Technology

(NMEICT) has been envisaged as a Centrally Sponsored Scheme.

b) The NMEICT has benefited in primary, secondary and higher education institutions.

Answer Options :

1) Only statement (a) is correct 2) Only statement (b) is correct

3) Both statements are correct 4) Both statements are false

6) ¶mo½¶ H$WZ/Zo AmoiIm -
a) ñd¶§‘ ho ^maVmMo ñdV…Mo MOOC ßb°Q>’$m°‘© Amho, Omo gd© {df¶m§da Am°ZbmB©Z Aä¶mgH«$‘ CnbãY H$aVo, Am{U

Ë¶m§Mm àma§̂  9 Owb¡, 2017 amoOr Pmbm.
b) ñd¶§à^m hm DTH Ûmao Cƒ XOm©Mo 32 e¡j{UH$ M°Zb CnbãY H$ê$Z XoUmam CnH«$‘ Amho Am{U Ë¶mMm àma§̂  9 OyZ,

2017 amoOr Pmbm.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) ¶mn¡H$s Zmhr

6) Select the correct statement/s —

a) SWAYAM is India's own MOOC platform offering online courses on all disciplines, and was

launched on 9th July, 2017.

b) SWAYAM PRABHA is an initiative to provide 32 high quality educational channels through

DTH, and was launched on 9 June, 2017.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above
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7) ñd¶§‘ (SWAYAM) g§~§YmV nwT>rb {dYmZo {dMmamV ¿¶m …
a) Vo E‘.EM.Ama.S>r., EZ.nr.Q>r.B©.Eb. Am{U Am¶.Am¶.Q>r. ‘Ðmg ¶m§Zr {dH${gV Ho$bo.
b) Ë¶mÛmao dJ© 9 Vo nXì¶wÎma n¶ªVMo Aä¶mgH«$‘ {eH${dbo OmVmV.
c) Ë¶mÛmao {eH${dbo OmUmao Aä¶mgH«$‘ {H$‘mZ ewëH$mda CnbãY Amho.
d) ¶y.Or.gr. nXì¶wÎma {ejUmgmR>r Ë¶mMo amï´>r¶ g‘Ýd¶H$ Amho.
darbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV?
1) (a), (b), (c) 2) (a), (b), (d) 3) (b), (c), (d) 4) darbn¡H$s gd©

7) Consider the following statements with reference to SWAYAM :

a) It is developed by MHRD, NPTEL and IIT Madraa.

b) Courses are taught from 9 clasa to Poat-graduation through it.

c) Coureea delivered through it are available at minimum coat.

d) UGC ia a national coordinator for Post-graduation education.

Which of the statements given below are correct ?

1) (a), (b), (c) 2) (a), (b), (d) 3) (b), (c), (d) 4) All of the above

8) 2020 ‘Ü¶o M°pån¶Ýg (Champion) åhUOo Creation and Harmonious Application of Modern Processes

for Increasing the Output and National Strength hm Am°ZbmB©Z ßb°Q>’$m°‘© (ì¶mgnrR>) ̂ maV gaH$maZo Imbrbn¡H$s
Hw$UmH$[aVm gwê$ Ho$bo ?
a) E‘.Eg.B©.~r. (MSEBs) b) E‘.Eg.E‘.B©. (MSMEs)

c) Am¶.gr.Q>r. (ICTa) d) ‘moR>o-AdOS> CÚmoJ (Large and Heavy Industries)

n¶m©¶r CÎmao …
1) (a) Am{U (b) H$[aVm 2) Ho$di (b) H$[aVm 3) (b) Am{U (d) H$[aVm 4) Ho$di (d) H$[aVm

8) In 2020, Creation and Harmonious Application of Modern Processes for Increasing the Output

and National Strength (CHAMPIONS), online platform was started by the Government of India,

for whom ?

a) MSEBs b) MSMES c) ICTs (d) Large and Heavy Industries

Answer Options :

1) For (a) and (b) 2) Only for (b) 3) For (b) and (d) 4) Only for (d)

9) Imbrb {dYmZo {dMmamV ¿¶m …
a) AÞYmÝ¶mMo Am°ZbmB©Z dmQ>n gd© amÁ¶o Am{U M§XrJS> Am{U nwSw>ƒoarÀ¶m H|$Ðem{gV àXoemV nyU© Pmbo.
b) 25 amÁ¶o/H|$Ðem{gV àXoem§‘Ü¶o nwadR>m gmIir ì¶dñWmnZmMo g§JUH$sH$aU nyU© Pmbo.
darbn¡H$s H$moUVr {dYmZ/Zo MyH$ Amho/AmhoV ?
1) Ho$di (a) 2) Ho$di (b)

3) XmoÝhr (a) Am{U (b) 4) darbn¡H$s H$moUVohr Zmhr
9)  Consider the following statements :

a) Online allocation of foodgrains completed in all States and Union Territories of Chandigarh

and Puducherry.

b) Computerisation of supply chain management completed in 25 States/Union Territories.

Which of the statement/s given above is/are incorrect ?

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above
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10) 2021 À¶m ¶w{Zgo’$À¶m Hw$Qw>§~ nmhUr AhdmbmZwgma, Imbrbn¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV?
A) 25 df} d¶mImbrb 220 H$moQ>r ‘wbo d VéUm§Zm {ZpíMV B§Q>aZoQ> gw{dYm CnbãY Zmhr.
~) J«m‘rU ^mJmV amhUmè¶m Ho$di 23% ‘wbm§Zm B§Q>aZoQ> gw{dYm CnbãY Amho.
H$) 25 nojm A{YH$ Xoem§Zr ’o$~«wdmar 2021 n¶ªV emim ~§X R>odë¶m hmoË¶m.
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) Ho$di A Am{U ~ 3) Ho$di A Am{U H$ 4) Ho$di ~ Am{U H$

10) Which of the following statements are correct, according to the household survey data of UNICEF

of 2021 ?

a) 220 crore children and youth below the age of 25 do not have fixed internet access.

b) Only 23% of children residing in rural areas have internet access.

c) More than 25 countries had kept their schools closed till February 2021.

Answer Options :

1) a, b and c 2) Only a and b 3) Only a and c 4) Only b and c

5) ‘m{hVr V§ÌkmZ CÚmoJ
1) à‘wI do~gmBQ> Am{U Ë¶mMo g§ñWmnH$ AmoiIm …

a) ’o$g~wH$ i) Q>r‘ ~Z©g©-br
b) B§Q>aZoQ> ii) {~b JoQ²>g Am{U nmb EboZ
c) ‘m¶H«$mogm°âQ> iii) g{MZ ~§gb Am{U {~Þr ~§gb
d) âbrnH$mQ>© iv) ‘mH©$ OwH$a~J©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iv) (i) (ii) (iii)

3) (iv) (ii) (i) (iii)

4) (ii) (iv) (iii) (i)

1) Match the pair of main Websites and their Founder :

a) Facebook i) Tim Berners-Lee

b) Internet ii) Bill Gates and Paul Allen

c) Microsoft iii) Sachin Bansal and Binny Bansal

d) Flipkart iv) Mark Zuckerberg

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iv) (i) (ii) (iii)

3) (iv) (ii) (i) (iii)

4) (ii) (iv) (iii) (i)
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2) Bbo³Q´>m°{ZH$ H$m°‘g©Mm CX¶ H$emàH$mao n[a^m{fV Ho$bm OmD$ eH$Vmo ?
1) B§Q>aZoQ>da ì¶dgm¶mMm ì¶dhma 2) B§Q>aZoQ>da Bbo³Q´>m°{ZH$ {ejU
3) ì¶dhmamgmR>r Bbop³Q´>H$b nÜXVr 4) B§Q>aZoQ>da g§dmX gmYÊ¶mgmR>r

2) The emergence of electronic commerce can be defined as -

1) The transaction of business on the Internet

2) Electronic education on the Internet

3) Electrical methodologies for transaction

4) Communication on the Internet

3) ¶mo½¶ H$WZo AmoiIm -
a) Bbo³Q´>m°{ZH$ dmoqQ>J ‘erZMr {Z{‘©Vr Bbo³Q´>m°{ZH$ H$m°nm}aoeZ Am°’$ B§{S>¶m {b. h¡Ðm~mX d ^maV Bbo³Q´>m°{Z³g {b.

~§Jbmoa ¶oWo Pmbr Amho.
b) BìhrE‘À¶m EH$m H§$Q´>mob ¶w{ZQ>‘Ü¶o OmñVrV OmñV 62 C‘oXdmam§Mr ‘Vm§Mr Zm|X Ho$ë¶m OmD$ eH$Vo.
c) BìhrE‘Mm gmd©{ÌH$ dmna 2004 À¶m bmoH$g ôÀ¶m gmd©{ÌH$ {ZdS>UwH$sV H$aÊ¶mV Ambm.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b), (c) 3) ’$º$ (a), (c) 4) darb gd©

3) Select the correct statements -

a) The Electronic Voting Machines have been manufactured by Electronic Corporation of India

Ltd., Hyderabad and Bharat Electronics Ltd. Bangalore.

b) One control unit of EVM can record the votes polled by a maximum of 62 candidates.

c) Universal use of EVM was done in the year 2004 in the General Election to the Lok Sabha.

Answer Options :

1) Only (a), (b) 2) Only (b), (c) 3) Only (a), (c) 4) All of the above
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(21) ì¶dñWmnZ
1) "gh^mJr {ZarjU' ¶m g§koMm dmna gd©àW‘ H$moUr Ho$bm ?

1) qcS>‘°Z 2) nrQ>a EM. 3) E‘. EM. Jmonmb 4) nmD${bZ ¶§J
1) Who first used the term "participant observation"?

1) Lindemann 2) Peter H. 3) M. H. Gopal 4) Pauline Young

2) ~O}g ¶m§Zr H$moUË¶m g§emoYZ nÕVrbm "gm‘m{OH$ gyú‘Xe©H$ ¶§Ì' åhQ>bo Amho ?
1) bmoH$mboI nÕVr 2) ì¶ï>r AÜ¶¶Z nÕVr
3) gh^mJr {ZarjU nÕVr 4) Cn¶mo{OV g§emoYZ nÕVr

2) Which research method has been called by Burgess as "social microscope"?

1) Folklore method 2) Vashti study method

3) Participant observation methods 4) Applied research methods

3) "gh^mJr {ZarjU' ¶m g§emoYZ nÕVrVrb g§emoYH$m{df¶r H$moUVo {dYmZ gË¶ Amho ?
1) g§emoYH$ g‘yhmV gh^mJr Z hmoVm ~mø {ZarjH$ åhUyZ H$m‘ H$aVmo.
2) g§emoYH$ g‘yhmV gh^mJr hmoD$Z g‘yhmMo ZoV¥Îd H$aVmo.
3) g§emoYH$ g‘yhmV gh^mJr hmoD$Z g‘yhmMm Am§V[aH$ gXñ¶ hmoD$Z OmVmo.
4) g§emoYH$ g‘yhmV gh^mJr Z hmoVm Ho$di ~¿¶mMr ŷ{‘H$m KoVmo.

3) Which statement is true about the researcher in the research method 'participant observation'?

1) The researcher acts as an external observer without participating in the group.

2) The researcher participates in the group and leads the group.

3) The researcher participates in the group and becomes an internal member of the group.

4) The researcher takes the role of a mere observer without participating in the group.

4) "gh^mJr {ZarjU' ho H$moUË¶m g§emoYZ nÕVrMo V§Ì Amho ?
1) ‘yb ŷV g§emoYZ nÕVr 2) Cn¶mo{OV g§emoYZ nÕVr
3) g§»¶mË‘H$ g§emoYZ nÕVr 4) JwUmË‘H$ g§emoYZ nÕVr

4) Participant observation is a technique of which research method?

1) Basic Research Methods 2) Applied Research Methods

3) Quantitative research methods 4) Qualitative research methods

5) JwUdÎmoMo {Z`moOZ, JwUdÎmm {Z §̀ÌU Am{U JwUdÎmm gwYmaUm `m VrZ JwUdÎmoÀ`m Ì`tÛmao JwUdÎmoMr nyV©Vm hmoVo, ¶m~m~VMo
`moJXmZ ......... `m§Mo hmoVo.
1) H$mAmoê$ B{eH$mdm 2) {dë`‘ ES>dS²g© S>oq‘J
3) Omogo’$ OwamZ 4) dm°ëQ>a E. eodmQ>©

5) Accomplishment of quality through three quality trilogy, such as quality planning, quality control

and quality improvement was the contribution of ..........

1) Kaoru Ishikawa 2) William Edwards Deming

3) Joseph Juran 4) Walter A. Shewhart
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6) ZdrZV‘ CVma {djonU (slope deflection) nÕV H$moUr {dH${gV Ho$br Amho?
1) àm. hmS>u H«$m°g 2) àm. ‘°Šgdob 3) àmo. Om°O© E. ‘Zr 4) Aë~Q>m} H°$pñQ>¿Zmo

6) Who has developed latest slope deflection method ?

1) Prof. Hardy Cross 2) Prof. Maxwell

3) Prof. George A. Maney 4) Alberto Castighno

7) nwñVH$ ‘yë` (book value) emoYÊ`mgmR>r Imbrbn¡H$s H$moUVr nÕV dmnabr OmVo?
a) Zâ`mda AmYm[aV ‘yë`m§H$Z b) ‘yë`‘mnZmMr ^mS>o nÕV.
c) OrdZmVyZ ‘yë`m§H$Z. d) ‘yë`m§H$ZmMr {dH$mg nÕV.
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) ’$º$ (c) 3) (b) Am{U (d) 4) ’$º$ (b)

7) Which of the following method/s is/are deployed to find out book value ?

a) Valuation based on profit b) Rental method of valuation.

c) Valuation from life. d) Development method of valuation.

Answer Options :

1) (a) and (c) 2) Only (c) 3) (b) and (d) 4) Only (b)

8) dH©$Am°S>©a {‘iÊ`mnydu H§$ÌmQ>XmamZo, H$amamZwgma H$m‘mÀ`m A§‘b~OmdUrMr h‘r åhUyZ {Xbobr a¸$‘ ........
1) {gŠ ẁ[aQ>r {S>nm°{PQ> 2) {b{¹$S>oQ>oS> ZwH$gmZ 3) ~±H$ J°a§Q>r 4) ~`mUm Xa

8).  The amount paid by the contractor to the organization before getting the work order as a guarantee

of execution of the work as per contract is termed as .........

1) Security deposit 2) Liquidated damage 3) Bank guarantee 4) Earnest rate

9) ''VrZ {b’$m’o$ nÕVr '' Zwgma {Z{dXm gmXa H$amd`mMr Amho. {b’$m’$m H«$‘m§H$ 1 ‘Ü ò Imbrb Jmoï>r AgVrb:
a) BE‘S>r gmR>r S>rS>r, bmJy Agë`mg. b) ~±H$ h‘r, bmJy Agë`mg.
c) Am`H$a ‘§Owar à‘mUnÌ. d) hmVmV Agboë`m H$m‘m§Mm Vnerb.
darbn¡H$s H$moUVo/`mo½` AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (b) Am{U (a) 4) (a), (b), (c) Am{U (d)

9) A tender is to be submitted in “Three Envelopes Method”. “Envelope No. 1” shall contain the

followings :

a) DD for EMD, if applicable. b) Bank guarantee, if applicable.

c) An income tax clearance certificate. d) Details of works in hand.

Which of the above is/are correct ?

Answer Options:

1) Only (a) 2) (a) and (b) 3) (b) and (a) 4) (a), (b), (c) and (d)

10) A{^`m§{ÌH$s àH$ën nyU© H$aÊ`mgmR>r Amdûm`H$ gm‘J«r Am{U H$mam{JarMo Vnerbdma dU©Z Ë`mÀ`m aoIm{MÌo Am{U
Vnerbm§À`m AZwf§JmZo ...... åhUyZ AmoiIbo OmVo.
1) A§XmO 2) Vnerb 3) qH$‘V 4) dñVy Xa

10) A detailed description of the quality of materials and workmanship required to complete an

engineering project in accordance with its drawings and details is known as ......

1) Estimate 2) Specification 3) Costing 4) Item rate
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11) 'B‘maV ^mS>onÅ>r' gmR>r Imbrbn¡H$s H$moUVo/bmJy Amho?
A) nÅ>oXma ’$º$ O{‘ZrMm nÅ>m XoVmo. ~) nÅ>oXma Ho$di B‘maVrMo ^mS>onÅ>o ‘§Oya H$aVmo.
H$) ^mS>onQ²>Q>çmZo O{‘ZrMo ^mS>o ^amdo bmJVo. S>) ^mS>oH$ê$bm ’$º$ B‘maVrMo ^mS>o Úmdo bmJVo.
n¶m©¶r CÎmao …
1) (A) Am{U (H$) 2) (~) Am{U (S>) 3) (~) 4) (S>)

11) Which of the following is/are applicable for ‘building lease’ ?

a) The lessor grants the lease of only land. b) The lessor grants the lease of only building.

c) The lessee has to pay ground rent. d) The lessee has to pay rent for the building only.

Answer Options :

1) (a) and (c) 2) (b) and (d) 3) (b) 4) (d)

12) {Z{dXm gyMZm ‘gwXm V`ma H$aÊ`mgmR>r Imbrbn¡H$s H$moUË`m H$mJXnÌm§Mr Amdûm`H$Vm Zmhr?
1) àñVm{dV H$m‘mMo doimnÌH$ ‘A’ 2) H$m‘mMo Zmd Am{U Ë`mMo ñWmZ
3) H$m‘mMr A§Xm{OV qH$‘V 4) {Z{dXoMr d¡YVm

12) Which of the followings documents will not be required for drafting the tender notice ?

1) Schedule ‘A’ of proposed work 2) Name of work and its location

3) Estimated cost of work 4) Validity of the tender

13) Ooìhm EImÚm {H«$`mH$bmnmgmR>r CnbãY doi {H«$`mH$bmn H$mbmdYrÀ`m ~amo~arMm AgVmo, H¥$VrMo ñdmV§Ë«̀  ZgVo Voìhm
Ë`mbm ........... Ago åhUVmV.
1) Cn-J§̂ ra {H«$`mH$bmn 2) A{V-J§̂ ra {H«$`mH$bmn
3) J§̂ ra {H«$`mH$bmn 4) {deof {H«$`mH$bmn

13) When the available time for an activity is equal to the activity duration, with no freedom of action,

it is called as ...........

1) Sub-critical activity 2) Super-critical activity

3) Critical activity 4) Special activity

14) IM© Am{U doi H$‘r H$aÊ`mgmR>r gm{hË` IaoXrgmR>r Imbrb Am°naoeZ g§emoYZ V§Ì ( ORM ) gdm©V `mo½` Amho.
1) ~Zdm qH$dm IaoXr H$am 2) àmYmÝ¶mMr g‘ñ¶m (Queuing Problem)

3) BH$m°Zm°{‘H$ Am°S>©a ¹$m§{Q>Q>r 4) {b{Z`a àmoJ«mq‘J
14) The following operation research technique most suitable for material procurement to minimize

costs and time is .......

1) Make or Buy Decision 2) Queuing Problem

3) Economic Order Quantity 4) Linear Programming

15) JVH$mimVrb {dl²dgZr` H$m‘{JarÀ`m A^mdr, CnH$aUm§Mo Bï>V‘ AmCQ>nwQ>, CËnmXH$m§À`m ‘°Ý ẁAb‘YyZ ....... Ûmao
{‘idVm òVo.
1) Bï>V‘ AmCQ>nwQ> = AmXe© AmCQ>nwQ> I gwYmaUm KQ>H$
2) Bï>V‘ AmCQ>nwQ> = bmoS> à{V gm`H$b I gm`H$b à{V Vmg
3) Bï>V‘ AmCQ>nwQ> = gwYmaUm KQ>H$ I H$m ©̀àXe©Z KQ>H$
4) Bï>V‘ CËnmXZ = ImoXÊ`mMm à`ËZ I ‘mVr KQ>H$
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15) In the absence of reliable past performance date, the equipment’s optimum output, which can be

derived from manufacturer’s manual is given by .........

1) Optimum output = Ideal output × Correction factor

2) Optimum output = Load per cycle × Cycles per hour

3) Optimum output = Correction factor × Performance factor

4) Optimum output = Digging effort × Soil factor

16) ZoQ>dH©$Mm {H«${Q>H$b ‘mJ© ........ Amho.
1) eyÝ` EHy$U âbmoQ>gh gdm©V bm§~ ‘mJ© 2) gH$mamË‘H$ EHy$U âbmoQ>gh gdm©V bm§~ ‘mJ©
3) F$U EHy$U âbmoQ>gh gdm©V bhmZ ‘mJ© 4) darbn¡H$s Zmhr

16) The critical path of a network is ........

1) Longest path with zero total float 2) Longest path with positive total float

3) Shortest path with negative total float 4) None of the above

17) bmBZ Am°’$ ~°bÝg (LOB) ho EH$ {Z`moOZ V§Ì AgyZ Vo .... ñdénmÀ¶m àH$ënmgmR>r à^mdrnUo bmJy Ho$bo OmD$ eH$Vo.
1) g§gmYZm§Mr H$‘r g§»`m 2) ~hþ-AZwemgZmË‘H$ O{Q>b {H«$`mH$bmn
3) nwZamd¥Îmr {H«$`mH$bmn 4) {H«$`mH$bmnm§Mr g§»`m H$‘r

17) Line of Balance (LOB) is a planning technique that can be effectively applied for the project

which involves ..........

1) Less number of resources 2) Multi-disciplinary complex activities

3) Repetitive activities 4) Less number of activities

18) ‘Q>o[a`b ‘°ZoO‘|Q>‘Ü ò, {ZdS>H$ {Z §̀ÌUmgmR>r YmoaU ‘mJ©Xe©H$ VÎdo åhUyZ ‘ABC’ ‘hÎdmMo AgyZ Ë¶mVrb ‘A’, "B’

Am{U ‘C’ Mm AMyH$ AW© ì¶º$ H$aUmam ¶mo½¶ n¶m©¶ emoYm :
i) {Z §̀ÌUmMr nmVir ii) g§»¶Ë‘H$ A§XmOmMr AMyH$Vm
iii) IaoXr Am°S>©a H$aÊ`mgmR>rMo àm{YH$aU iv) gwajoMo ‘hÎd
n¶m©¶r CÎmao …
1) ~r Am`Q>‘ (i) - ‘Ü`‘, (ii) - gw‘mao, (iii) - ‘Ü`‘ ñVa, (iv) - nwaogo
2) gr Am`Q>‘ (i) - H$R>moa, (ii) - nwaogo, (iii) - gdm©V d[að>, (iv) - H$‘r
3) E$ Am`Q>‘ (i) - Cƒ, (ii) - AMyH$, (iii) - d[að> ñVa, (iv) - H$‘r
4) E$ dñVy (i) - g¡b, (ii) - IS>~S>rV, (iii) - H${Zð> ñVa, (iv) - nwaogo

18) In materials management, the policy guidelines for selective control, as per ‘ABC’ analysis for

‘A’, "B’ and ‘C’ items is ..........

i) Degree of control. ii) Quantity forecast accuracy.

iii) Authority for ordering purchase. iv) Safety stock.

Answer Options :

1) B items (i) — Moderate, (ii) — Approx, (iii) — Middle level, (iv) — Adequate

2) C items (i) — Strict, (i) — Adequate, (iii) — Senior most, (iv) — Low

3) A items (i) — High, (ii) — Accurate, (iii) — Senior level, (iv) — Low

4) A items (i) — Loose, (ii) — Rough, (iii) — Junior level, (iv) — Adequate

-0-0-0-0-0-0-0-0-0-0-0-
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(14) ‘mZdr MoVmg§ñWm, nMZ, ídgZ,
é{Yam{^gaU, ñZm¶y d AñWr, A§V…òmdr,

CËgO©Z

1) ‘mZdr MoVmg§ñWm, ‘Zmoé½U

1-4 2-2

2) ‘mZdr nMZg§ñWm

1-3 2-4 3-1

3) ‘mZdr ídgZg§ñWm,aº$, é{Yam{^gaU
1-3 2-4 3-2 4-2

4) ‘mZdr ñZm¶y d AñWr g§ñWm

1-3 2-4

5) ‘mZdr A§V…òmdrg§ñWm

1-4 2-3 3-2

6) ‘mZdr CËgO©Z g§ñWm

1-2 2-1

7) nwZéËnmXZ g§ñWm

1-2 2-3 3-1 4-3

8) OI‘m, q’$JaqàQ

1-2 2-1 3-3 4-3 5-4 6-3
7-2 8-2

9) ‘¥Ë¶y, ed{M{H$Ëgm

1-1 2-3 3-3 4-2 5-1

10) ~bmËH$ma, J ©̂nmV, qbJ{ZXmZ MmMUr

1-1 2-1 3-1 4-4 5-1 6-4

(15) amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ,
CnMma d Amamo½¶ H$m ©̀H«$‘

1) amoJàgma d H$maH$ KQ>H$

1-4 2-1 3-3 4-1 5-4 6-2

2) amoJ{ZXmZ d CnMma

1-1 2-4 3-3

3) Amamo½¶ H$m ©̀H«$‘

1-3 2-3 3-1 4-4 5-4 6-4
7-1 8-3 9-4 10-4 11-4 12-4

(16) Am¡fYo Am{U bgr

1) Am¡fYm§Mo òmoV d {Z{‘©Vr

1-1 2-4

2) {d{dY amoJmda à^mdr Am¡fYo

1-1

3) bgr

1-2 2-3 3-2 4-1 5-2

4) Am¡fY {Z¶§ÌU H$m¶Xm d Am¡fYm§Mo Xþîn[aUm‘

1-2 2-4 3-2 4-2 5-4

(17) AÞ Am{U nmofU - ‘°H«$mo, gyú‘,
I{ZOo, OrdZgÎdo

1) AÞ d nmofH$ KQ>H$

1-3 2-3 3-3

2) H$~m}XHo$

1-4 2-1

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` {dkmZ
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3) à{WZo

1-1 2-2 3-1 4-3

4) pñZ½Y nXmW©

1-1 2-4

5) jma d I{ZOo

1-3

6) OrdZgËd

1-3 2-3 3-3 4-4 5-2 6-2

7) nmofU H$m¶©H«$‘ d Amamo½¶

1-3 2-2 3-4 4-3

8) AÞYmÝ¶ nwadR>m d à{H«$¶m

1-2 2-1 3-3 4-3 5-3 6-3
7-1 8-4

(18) ^maVmVrb {dkmZ Am{U
V§ÌkmZmVrb àJVr, g§ñWm, d¡km{ZH$

1) ‘hÎdmMo emók d g§emoYH$
1-1 2-4

2) ‘hÎdmÀ¶m g§emoYZ g§ñWm

1-2 2-2 3-1 4-2 5-3 6-3
7-2 8-4 9-1 10-3 11-1 12-2
13-4 14-2 15-2 16-3 17-3 18-2
19-2

3) ‘hÎdmMo V§ÌkmZ

1-2 2-1 3-1 4-2

4) V§ÌkmZ YmoaU, n[afXm, H$m‘{Jar, ¶moOZm

1-1 2-3 3-1 4-1 5-4

5) nwañH$ma, ~hþ‘mZ

(19) {dkmZ {dH$mg, V§ÌkmZmÛmao nm`m ŷV
gw{dYm§Mm {dH$mg

1) D$Om© V§ÌkmZ

1-1 2-1 3-3 4-2 5-2 6-1
7-1 8-1 9-3 10-1 11-2 12-4
13-1 14-1 15-1 16-1 17-2 18-3
19-1 20-1 21-3

2) dmhZ V§ÌkmZ d dmhVyH$

1-2 3-2 4-4 5-4 6-3 7-2
8-4 9-1 10-4 11-4

3) J¥h{Z‘m©U d ~m§YH$m‘ V§ÌkmZ

1-3 2-3 3-1 4-2 5-1 6-1
7-3 8-3

4) nmUr nwadR>m d g’$mB© V§ÌkmZ

5) XiUdiU (nmoñQ> d Q>o{bJ«m’$, Xÿag§Mma), ao{S>Amo, Xÿa{MÌdmUr

6) JwÝhm AÝdofU V§ÌkmZ

1-4 2-4 3-3 4-1 5-2

7) Amamo½¶ d AÞ joÌmer g§~§{YV V§ÌkmZ

8) {ejU, H$m¡eë¶ d ‘Zwî¶~i {dH$mg joÌmer g§~§{YV V§ÌkmZ

9) eoVr, nrHo$, ’$bmoËnmXZ, nwînmoËnmXZ V§ÌkmZ

10) ObqgMZ Am{U Obì¶dñWmnZ V§ÌkmZ

1-2 2-3

11) newYZ, Hw$ w̧$Q>nmbZ V§ÌkmZ

12) dZrH$aU, ‘Ëñ¶ì¶dgm¶

13) AmnÎmr ì¶dñWmnZ

14) Z°ZmoQ>oŠZm°bm°Or

1-1 2-1 3-4
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(20) ‘m{hVr d g§àofU V§ÌkmZ /Am¶grQ>r

1) g§JUH$ V§ÌkmZ

1-4 2-3 3-2 4-3 5-1

2) H$å¶w{ZHo$eZ V§ÌkmZ

1-2 2-2 3-1 4-1 5=3 6-3
7-3 8-2

3) gm¶~a JwÝho d Ë¶mg à{V~§Y

1-1 2-1 3-3 4-4 5-1

4) emgZmMo Am¶Q>r H$m¶©H«$‘

1-2 2-1 3-1 4-2 5-1 6-1
7-2 8-2 9-3 10-1

5) ‘m{hVr V§ÌkmZ CÚmoJ

1-2 2-1 3-3

(21) ì¶dñWmnZ
1-1 2-2 3-3 4-4 5-3 6-3
7-2 8-3 9-4 10-2 11-1 12-1
13-3 14-4 15-1 16-1 17-3 18-3


